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Question Number : 1 Question Id : 1034351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank of the series:

YB~, X(C, WDg,

Options :

1. # E5V

2. % VgE

3. % EgV

4. ¥ VsE



Question Number : 1 Question Id : 1034351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
kgt & Nard RIM B 1R

YB7, X¢,C, WDg,
Options :
1. ¥ E5V
2. % VgE
3. ¥ EgV
4. ¥ VsE

Question Number : 2 Question Id : 1034352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, COUSIN is written as UOCSIN. Which one among the options can be a similar word and its code?
Options :

1. ¥ LETTER:TELTER

2. % CXEEPT:EXCETP

3. % GROUPS:SPUORG

4. ¥ OTHER:EHTOR

Question Number : 2 Question Id : 1034352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s Rfd B A, COUSIN @ UOCSIN & =0 & forat Tam g | fasedl § & 19 I1 U, GHH Yo, 3R ITBT HIS 81 Thdl 82
Options :

1. ¥ LETTER:TELTER

2. % CXEEPT:EXCETP

3. ¥ GROUPS:SPUORG

4. ¥ OTHER:EHTOR




Question Number : 3 Question Id : 1034353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ Pony
2. % Cub
3. # Puppy
4. ¥ Foal

Question Number : 3 Question Id : 1034353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiwedl A @ & e Rfya % T TuE 81 gTlTe, T faeed 3 diF o1 oRE Tl ¢ | 39 A et o1 I8 &Y oY 30 ¥ 3T B
Options :

1. ¥ ccg

2. % IR

3. % fOce

4. % gl

Question Number : 4 Question Id : 1034354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Lucknow

2. % Tokyo

3. # New Delhi
4. % Islamabad



Question Number : 4 Question Id : 1034354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiweal A @ & e Rfya %  TuE 81 gTlTP, T faeed 3 diF o1 aRE Tl ¢ | 39 fahed &1 I &Y oY 30 ¥ 3T B
Options :

1. ¢ dG1$H

Question Number : 5 Question Id : 1034355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Thin wires : Ductile:: Thin sheets: ?

Options :

1. # Dense

2. * Shallow

3. ¥ Malleable

4. % Non-Malleable

Question Number : 5 Question Id : 1034355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B I R Ue J I UHR I a&fd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
Udd dR : 9 :: Udcl 91as : 2

Options :

1. % el

2. ® fyad

3. ¢ SraTaagd

4. % TR-SATATTALHI




Question Number : 6 Question Id : 1034356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Covid-19 is called BNUHC-18 then NURSES may be called ?
Options :

1. ¥ OVSTFT

2. # SVOTFT

3.+ MTQRDR

4. % QTMRDR

Question Number : 6 Question Id : 1034356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e PITIS-19 I BNUHC-18 HET STl & of NURSES D! T gl off Gaball 52
Options :

1. ®* OVSTFT

2. ® SVOTFT

3. ¥ MTQRDR

4. % QTMRDR

Question Number : 7 Question Id : 1034357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, FILM is written as 7101314 and CITY is written as 4102126 then ACTRESS may be written as:
Options :

1. % 132051919

2. % 201941818

3.9 242162020

4. % 123502020

Question Number : 7 Question Id : 1034357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS (Y HIS &, FILM &1 7101314 & TG foRaT 701 § 3R CITY BT 4102126 & S0 H a1 T—1 8, A ACTRESS &1 a1 o1 Yol 5
Options :

1. # 132051919

2. % 201941818

3. % 242162020

4. % 123502020

Question Number : 8 Question Id : 1034358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards Tapu, Kiyansh said his mother is the only sibling to my father's child. How is Kiyansh related to Tapu ?
Options :

1. # brother

2. ¥ mother’s brother

3. % sister’s son

4. % brother's son

Question Number : 8 Question Id : 1034358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 3R TIRT B gU B 3 Hg1 fob ST ATl IR a1 & 5= &1 Thas eI 7 | fhaier e § o Tafdd 82
Options :

1. % g

2.« HMHT

3. % S5 BT

4. % HIS DI

Question Number : 9 Question Id : 1034359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



6 students Chaman, Karman, Harman, Manan, Charan and Karmal participated in a race to win Gold, Silver and Bronze medals by winning the
first 3 places respectively.

1. Chaman who finished just behind Karman came last.

2. Harman got a medal by just beating Manan but he lost to Charan.

Which of the following did not win any medal?

Options :

1. ¥ Manan
2. # Karman
3. # Charan

4. % Karmal

Question Number : 9 Question Id : 1034359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 BT A, HHA, BIA, {1, TR 3R HIAT - GIg 7 HITT T 3R HHT: YUH 3 I Siide WU, I9id 3R B UGHh Siid |
1. I SR HHA & 3t Uiy gAT fopa, ag Sifaw wiq wR 3|

2. B A 4 1 Rth g1 Ues g1Rid e difer 98 oR= 4 gR T

fFafafad 7 T o 318 g 78l Shidr

Options :

|, % T

2. % HHA

3. % TR

4. & BAA

Question Number : 10 Question Id : 10343510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question given below, an assertion is given, followed by a reason. You have to decide whether the assertion is true, reason is true or both
are true and if the reason is the correct explanation of the assertion.

Assertion- There are severe landslides and rains in the states of Himachal Pradesh.
Reason- Natural disasters are the big problems to humanity.

Options :



1. ®¥ Assertion is true, reason is false
2. % Assertion is false, reason is true
3. # Both assertion and reason are true, reason is the correct explanation of the assertion

4. ¥ Both assertion and reason are true, reason is not the correct explanation of the assertion

Question Number : 10 Question Id : 10343510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR R Uy H, te ey oo T €, 39 91g U HRUI a1 T 8 | 3TUD) T8 T BT § b o1 iy ¥ B, HRU I § A1
3T 9§ 3R afe BRI, 3ifiby o) 98l A B

SHfHY- fEHTae TeRT Isal H HIHR YRaa 3R SR 81 %@ 8

HRUL- WHAD UG AT & oY T85! THRT 5 |

Options :

1. % JfYHYT T §, HRUN 3 8

2. % JHfUYBYT 3T § HRUI T 8

3. % JANHYT 3R BRI EHI T &, BRUI YT ! Tg! ARSAT §

4. ¢ SAMHYT 3R BRI EGHI T &, SR HY P Y] IReAT 7l &

Question Number : 11 Question Id : 10343511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, a statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given argument, if any, follows from the given statement.

Statement- Doctors have to work in the rural areas for 3-4 years for further promotion.
Argument I- Yes, This would help to solve the medical problems of rural areas.
Argument II- No, Doctors would be under emotional stress as many have not lived without their families.

Options :

1. ¥ Only argument I is strong
2. % Only argument II is strong
3. # Neither I nor II is strong

4. % Both arguments are strong



Question Number : 11 Question Id : 10343511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR feu T Uy H, T HuA fear ma 8, o a1 g db 1 3R 11 fRT W § | 3T 39 HYUHl Y I HFAT §, Hd 81 I8 JrH=Id: 1 9
¥ i Ueiid 811 3Muh! I8 i o g 6 RRu e o & @ b1 1, afe &g &), U MU py= & F SR e g

HY- RGPl BT ST B e & g Frfr &3 # 3-4 I8 TP HTH X1 Usdl 5

% 1- 8, 399 UrHiur & & fIforedr gHwnal & 84 #34 § Heg Ao |

b 11- 71, Fafer e HIaTer® a-1a & giT Rilfes Bs @l 3iu URaR! & faT 78i I8 Ahd g |
Options :

1. ¥ $Hdd dd [ AOed §

2. % %Had d% 11 ASIgd §

3. % A 1RAR 1 AoEd ©

4. % QI b Tolgd §

Question Number : 12 Question Id : 10343512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
15:32::18:7?

Options :
1. % 31
2. % 30
3. % 34
4.9 35

Question Number : 12 Question Id : 10343512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHeT BT T B S ik UG ¥ 341 UHR ¥ Yafdd g o JR ¥ 3R UG Ugd Ug ¥ Hafed g
15:32::18:7?

Options :

1. % 3]




2. % 30
3. % 34
4.9 35

Question Number : 13 Question Id : 10343513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

5,7,25, 131,
Options :
1. % 921
2. % 131
3. ¥ 925
4. % 224

Question Number : 13 Question Id : 10343513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad skae &1 R

5,7,25, 131,
Options :
1. ® 921
2. % 131
3. ¥ 925
4. % 224

Question Number : 14 Question Id : 10343514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the diagram can be said to depict these statements?



No Punjabi (P) is Tamil (T) and some Tamils (T) are Muslims (M).
Options :

1. ¢

Question Number : 14 Question Id : 10343514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 3R 37 HYT Dl SR & oI H8T ol bl 82



DI Uord! (P) I8 (T) 7161 & 3R $© aifd (T) GRaH (M) B

Options :

1. ¢

Question Number : 15 Question Id : 10343515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A football player is running towards the goal which is to the west, then he turns to his right and runs 150 meters and then turns around 180
degrees and starts to run. In which direction is he running now?



Options :
1. * East
2. % West
3. * North
4. ¥ South

Question Number : 15 Question Id : 10343515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ppesia RIATS! Md B 3R Grs X81 & Sl Ui 1 3R g, fhr 98 310 2t iR gedi & $R 150 Hier drear g ok fhe 180 S &
ST AT § 3R SIeT Y& Hdl & | 98 3 fhy RRen A Sre @1 e

Options :

1. % qd

2. % Uiy

3. % 3

4. ¥ fgon

Question Number : 16 Question Id : 10343516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man started walking from his house and moved 11 meters to north and then turned to east and walked another 60 meters. How far he is from
his starting point?

Options :

1. #* 69 meters

2. % 49 meters

3. * 41 meters

4. ¥ 61 meters

Question Number : 16 Question Id : 10343516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AfT 3T TR Y I IR BT 8 MR 11 Hiex IR 1 3R IadT g 3R bR gd Pt 3R 31§ 3R 60 Hiex Iaar g1 98 U




IR fdg I fpat R 82
Options :

1. % 69 HIex

2. % 49 AR

3. % 41 Hiex

4. ¥ 61 HiR

Question Number : 17 Question Id : 10343517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure would complete the question figure?

Options :



Question Number : 17 Question Id : 10343517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA UY 3P B R B



Options :

1. #®



Question Number : 18 Question Id : 10343518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some letters are created by joining some lines. Which option has the most types of symmetry?
Options :



Question Number : 18 Question Id : 10343518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS HeR $S W13 DI oS ¥ 514 ¢ | v [daved T wa oifies TR &1 wafifa g2

Options :



3.¢¥

Question Number : 19 Question Id : 10343519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you had to draw a mirror image of the sketch given in the question, your drawing would match closely to which of the given options? You are
free to place the mirror at the top, bottom, left or right of the given image.



Options :



Question Number : 19 Question Id : 10343519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe U Uy A fou U Rarfem o1 guur ufafds s911 8, fou U fasweul 7 ¥ frad Adear @ simuest Y@ Ad @rwile 8y & s afd
& SR, 1, 91¢ I1 ¢ gUur @+ & o Wa7 g |



Options :



3.¢

Question Number : 20 Question Id : 10343520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose we use different colours to paint the triangles in the given figure in such a way that no two colours will overlap, then what is the
maximum number of colours needed?



Options :
1. = 14
2.9 18
3. % 16
4. % 20

Question Number : 20 Question Id : 10343520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Ao o 89 €1 115 sl T Byl o1 3 & foTT SIeT- 3@ T &1 39 oRE A SUAN HRd § [ dig Hl &l 7 IRERef 7 g1, df
3fHad fda T ot TaRgHdl gIvi?



Options :
1. % 14
2.¥ 18
3. % 16
4. % 20

General Awareness
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Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :
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General Awareness

Section Id :

Section Number :
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Question Number : 21 Question Id : 10343521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sanctum (garbhagriha literally ‘womb-house’) , is one of the basic form of:
Options :

1. ¥ Hindu Temple

2. % Buddhist Temple

3. % Gurudwara

4. % Synagogue

Question Number : 21 Question Id : 10343521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tger (Mi7e &1 Wfsged o MR B, e S @ s u A A wa 8
Options :

1. ¢ fgg HfdR

2. % dig iR

3. % T¥gRI

4. % ggd Hi}

Question Number : 22 Question Id : 10343522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The popular temple architecture style in northern India:
Options :

1. # Garbh

2. ¥ Nagara

3. ® Niwas

4. % Aalya

Question Number : 22 Question Id : 10343522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
IR URA H AIH 0 TR arRgaHan Rl
Options :

1. % i

2. ¥ AR

3. % fqarg

4. % 3fferdn

Question Number : 23 Question Id : 10343523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Microeconomics is the study of:

Options :

1. ¥ Behaviour of individual economic Agent
2. # Study of markets

3. % Study of economics as a whole

4. # Study of Banks

Question Number : 23 Question Id : 10343523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3rf=d A9 &1 3ieqg |
Options :

1. ¢ fadTd M Toic BT HTER
2. % ORI BT T

3. % TUY XY Y IR BT 3T
4. % dbi BT e

Question Number : 24 Question Id : 10343524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is a short run in production function?
Options :

1. ¥ At least one of the production factors is fixed
2. % All production factors vary

3. % All Production factors are equal

4. % Production factor does not matter

Question Number : 24 Question Id : 10343524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IdTe Had | T I 71 ]2

Options :

1. ¢ JdCA RS § J YAaH T [ g
2. % quff IdTEH FRS N §

3. % gt IATCH FRS T §

4. % IATGH HRD Y DI By o] dadl

Question Number : 25 Question Id : 10343525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the scientific name for table sugar?
Options :

1. #® Carbohydrates

2. # Fructose

3. % Glucose

4. ¥ Sucrose

Question Number : 25 Question Id : 10343525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A YR BT a1 TH F1 82

Options :



1. % HEGESC
2. % ol
3. % Tl
4. ¥ ZYRIHA

Question Number : 26 Question Id : 10343526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process due to which fatty food becomes rancid is called:
Options :

1. ¥ Oxidation

2. % Reduction

3. ¥ Dehydration

4. ¥ Hydration

Question Number : 26 Question Id : 10343526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 UfehdT foridh HIRUT GAIgad o ST 81 Sffdl &, 39 &gl Sl &:
Options :

1. ¢ 3Iepur

2. % THIDHR

3. % FSiefiRur

4. % SegIeH

Question Number : 27 Question Id : 10343527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name and chemical formula of laughing gas?
Options :

1. * Nitrogen dioxide (NO,)



2. ¥ Nitrous oxide (N,O)
3. # Nitric oxide (NO)
4. % Nitrate (NO3)

Question Number : 27 Question Id : 10343527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 19 BT AW 3R I G 182

Options :

1. # IS SIZ3HRIES (NO,)
2. ¥ A1ECH JHHEEE (N,0)

3. % TEfcd SAES (NO)

4. % A1ECC (NO3)

Question Number : 28 Question Id : 10343528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Port Blair is located in:

Options :

1. ¥ North Andaman Island

2. % Car Nicobar

3. % South Andaman Island

4. ® Little Andaman Island

Question Number : 28 Question Id : 10343528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
1. % IR USAH g



2. % PR APER
3. + &0 3[USHH giu
4. ® BT AUSHM g1

Question Number : 29 Question Id : 10343529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indira Point, the southernmost point of India lies in which of the following island?
Options :

1. # Car Nicobar Island

2. # Little Nicobar Island

3. % North Andaman Island

4. ¥ Great Nicobar Island

Question Number : 29 Question Id : 10343529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o1 Fad <fault dige, $fexT dige Fafeid # 4 foo giu & fRud g2
Options :

1. % R FeER gu

2. % Fler FPER g0

3. % I AUSHAM gIY

4. ¢ g1 PER €U

Question Number : 30 Question Id : 10343530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The practice of women having several husbands is called:
Options :

1. ¥ Polygyny

2. % Polyandry



3. % Exogamy
4. # Endogamy

Question Number : 30 Question Id : 10343530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el & 3ies Ufd TG &1 U1 I HgT Il 6 -
Options :

1. % 9gUdid (Uferern)

2. ¢ dgufdd

3. % SR (USRI

4. % JAfdarg (T=rH)

Question Number : 31 Question Id : 10343531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Since the 17th century Pondicherry has been a colony of which country till its independence?
Options :

1. # Great Britain

2. # Netherlands

3. % France

4. # Spain

Question Number : 31 Question Id : 10343531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1741 RIcTee) H TSRt S(U=Nt Taa=dl dob fby <=1 BT IUFA 36T 82
Options :

1. % e foeH

2. % xS

3. ¢ Oig



4. % W

Question Number : 32 Question Id : 10343532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Indian 'Home Rule movement' was started by
Options :

1. ¥ Bal Gangadhar Tilak and Annie Besant
2. % Mahatma Gandhi

3. % Subhash Chandra Bose

4. # Sardar Vallabhbhai Patel

Question Number : 32 Question Id : 10343532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BH & Sficie  gRT Y bl 41 47|
Options :

1. ¢ 91 TMeR e 3R T 98

2. % HETEHT Mieht

3. % UV g Y

4. % TER YIS Ucd

Question Number : 33 Question Id : 10343533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the Simon Commission come to India?
Options :

1. #1917

2. % 1942

3. % 1930

4,9 1928



Question Number : 33 Question Id : 10343533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT HHITA HRA H el 3T 2
Options :

1. % 1917

2. % 1942

3. % 1930

4.+ 1928

Question Number : 34 Question Id : 10343534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'Bhupen Hazarika' is a famous Indian personality belonging to which of the following fields?
Options :

1. ¥ Writing

2. % Acting

3. ¥ Singing

4. % Politics

Question Number : 34 Question Id : 10343534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'O gTeiRepT Fafafed & @ fre &= @ et uRig YRt sufdid g
Options :

], % o

2. % 3

3. ¢ 1T

4. % IS



Question Number : 35 Question Id : 10343535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following were the first recipients of ' Bharat Ratna Award?'
Options :

1. * Dr Rajendra Prasad

2. ¥ C. Rajagopalachari

3. % Pt. Jawaharlal Nehru

4. % Sardar Vallabhbhai Patel

Question Number : 35 Question Id : 10343535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad § 9 S HRd Id REBR' S g UTaiebei 42
Options :

1. % SIol<% U91g

2. . ISUTATER]

3. % . SaeRdld A%

4. % TSGR ICAHHTS UCd

Question Number : 36 Question Id : 10343536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term 'Republic' means:

Options :

1. ¥ Head of state is elected

2. ® Head of state is monarch

3. % Oligarchy

4. ® Ruler

Question Number : 36 Question Id : 10343536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
O Xeg 1 31 &:

Options :

1. ¢ o9 & WA g1 oA §

2. % Y HT YHY ST G\Idl %’

3. % 3rcUdd

4. % YD

Question Number : 37 Question Id : 10343537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following set-up of governance, the Indian Government has?
Options :

1. % Federal

2. # Unitary

3. ¥ Quasi-Federal

4. # Fully Independent

Question Number : 37 Question Id : 10343537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed & 3 o @ T R, YR WHR & TN 52
Options :

1. % g4Iy

2. % UD[HD

3. ¢ 3 T (H1R-Thexa)

4. % G ORg WA

Question Number : 38 Question Id : 10343538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Indian athlete Priyanka Goswami is participating in 2020 Tokyo Olympics in which sport?
Options :

1. # Hockey

2. # Cricket

3. % Wrestling

4. ¥ Race walking

Question Number : 38 Question Id : 10343538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tciie forieT TRaTHt 2020 <o Sicifus o ford @a & U A 61 62
Options :

1. % gl

2. % fohhe

3. % Pl

4. TG B

Question Number : 39 Question Id : 10343539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first Indian female swimmer who qualified for 2020 Tokyo Olympics?
Options :

1. # Shikha Tondon

2. ¥ Maana Patel

3. # Richa Mishra

4. % Saloni Dalal

Question Number : 39 Question Id : 10343539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed # 9 o A ugdl HRdIg Afga dRie 8 e 2020 Sl St & fog sreiieTs fovar g2

Options :



1. % RRardeq
2. ¢ AETUCA
3. % T fis
4. % A gard

Question Number : 40 Question Id : 10343540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Believe in Sports’ campaign has been launched by:
Options :

1. #® Sports Authority of India (SAI)

2. # Fédération Internationale de Football (FIFA)
3. ¥ International Olympic Committee (IOC)

4. ® International Cricket Council (ICC)

Question Number : 40 Question Id : 10343540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foeita 39 W Sifiam g gRT &= foar mar 8
Options :

1. % YRAIG Qe W0

2. % TS ST 8l Beald

3. v ST Sieife afify

4. % SIRIP fbope uRwe

Arithmetic Ability

Group Number : 3
Group Id : 1034353
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 1034353
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 1034353
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 10343541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If + means +, + means -, - means x and x means +, then 40x18+2+4-3 is:
Options :

1. % 23

2. % 64

3.¥ 37

4. % 46

Question Number : 41 Question Id : 10343541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g + BT 34 = §, - BT 34 - B, - BT 312 x § 3R x BT 31 + B, A 40x18+2+4-3 B:
Options :
1. % 23
2. % 64
3.9 37
4. % 46

Question Number : 42 Question Id : 10343542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination a student was asked to find 3/14 of a certain number. By mistake, he found 3/4 of it. His answer was 90 more than the correct
answer. Then the number is:

Options :
1. ¥ 168
2. % 274
3. % 98

4. % 196

Question Number : 42 Question Id : 10343542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TRIeT H TP BT B IS AT &1 3/14 J7d B o (078 Hal 7T U7 T I, ST ST 3/4 HIT JTd B 07| SHBT IR ol 3R
T 90 31fdes UT| fh TB1 3

Options :
1. ¥ 168
2. % 274
3. % 98

4. % 196

Question Number : 43 Question Id : 10343543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a shopkeeper gives 20% discount and then 10% discount on a book which has the marked price 200, how much would be the selling price (in
Rs) of the book?

Options :
1. ®* 163
2.9 144
3. % 124
4. % 116

Question Number : 43 Question Id : 10343543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

tri%gobé;iﬁlewgmwwzo%ﬁﬁém%aﬁ?ﬁﬂwm10%@@?%%%@%%3@200%ﬁrgwmaﬂi&wq e (39T H)
faraT grm?

Options :
1. % 163
2.¥ 144
3. % 124
4. % 116

Question Number : 44 Question Id : 10343544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of a, b, ¢ is X and ab + bc + ac = 3. What is the average value of a.z,bz,c2 ?
Options :

1.¥3X2-2

2. % 3%?

3. % 9x?-4

4. % 3X -4

Question Number : 44 Question Id : 10343544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a,b,c WG?H?TX%&ﬁTab+bc+ac=3%|az,bz,czwm'ﬁlﬂwa?
Options :

1.¥3X%-2

2. % 3%2

3. % 9x2-4

4. % 3X -4

Question Number : 45 Question Id : 10343545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of marks scored by the students of a class is 75. The average of marks of the girls in the class is 80 and that of boys is 70. What is
the percentage of girls in the class?

Options :
1. ® 60
2. % 40
3.4 50
4. % 45

Question Number : 45 Question Id : 10343545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bl b B gRTUTE 37T BT 3id 75 8| Hefl H Tsfohdl P 3fehl T 3NTd 80 § 3R ASHI BT 70 B 1 el H dsfpdl BT Ufa=rd o1 82
Options :

1. * 60

2. % 40

3.¥ 50

4. % 45

Question Number : 46 Question Id : 10343546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If 40% of (x-y) = 20% of (x+y) then what percent of x is y?
Options :

1. ¥ 33.33

2. % 3725

3. % 606.67

4. % 32.54

Question Number : 46 Question Id : 10343546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I (x-y) BT 40% = (x+y) BT 20% 8, A x BT {1 ufazd y 82
Options :

1. ¥ 33.33

2. % 37.25

3. ® 66.67

4. % 32.54

Question Number : 47 Question Id : 10343547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of a mobile phone is Rs.1200 and it was sold for Rs.900, find the loss %?
Options :

1. % 20%

2. % 30%

3. % 45%

4. % 25%

Question Number : 47 Question Id : 10343547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TS B S AN Jed 1200 $UT § 3R 31 900 $9T H &1 74T, T 8T % I X2
Options :




1. *® 20%
2. % 30%
3. % 45%
4.9 25%

Question Number : 48 Question Id : 10343548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling an article at Rs. 900, a shopkeeper makes a profit of 25%. At what price should he sell the article so as to make a loss of 25%?
Options :

1. # Rs 560

2. % Rs 540

3. % Rs 420

4. ® Rs 460

Question Number : 48 Question Id : 10343548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I BT 900 TUY H SFHR, TP GHGR 25% BT ATH fofd HRAT 8 | 25% P I & fo1E I a¥g &' ford e R <1 A1 W2
Options :

1. #® 560 %UUQ

2. % 540%UUQ

3. % 420%UU¢

4. % 460%UU

Question Number : 49 Question Id : 10343549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a library, the ratio of number of story books to that of non-story books was 3:4 and total number of story books was 1560. When some more
story books were bought, the ratio became 3:2. Find the number of story books bought.

Options :
1. % 1560



2. % 1250
3. % 840
4. * 990

Question Number : 49 Question Id : 10343549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP [AHTad B, M [d &I T H1 IR-HMH! [ F U 3:4 U7 3R HeT! D &1 Hd W& 1560 At | 91 F& 3R Bt
XA WRIg] T8, Al 3UTd 3:2 81 TT| I 1% HgTHI GRadh DI AT I Dy |

Options :

1. ¥ 1560

2. % 1250

3. % 840

4. % 990

Question Number : 50 Question Id : 10343550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the present age of father to that of son is 7:2. After 10 years their ages will be in the ratio of 9:4. The present ages of the father is
years.

Options :
1. ¥ 35
2. % 28
3. % 42
4. % 56

Question Number : 50 Question Id : 10343550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gmﬁaﬁqﬂmmgaﬁaﬁqmarrg@r&qqmm%l 10 9N §1G 39T 31T 9:4 & ST | 1T | fUaT &Y aq e g Iy
I

Options :



1. ¥ 35
2. % 28
3. % 42
4. % 56

Question Number : 51 Question Id : 10343551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan deposited rupees 20000 for 4 year at a rate of 5% p.a. Find the amount Rohan got in rupees.
Options :

1. % 28000

2. % 22400

3. % 24400

4. % 24000

Question Number : 51 Question Id : 10343551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN A Ufd T 5% BT X F 4 I8 & W 20000 FUT ST fHT | A5 D1 U g5 R $UT H 1A B
Options :

1. * 28000

2. % 22400

3. % 24400

4. % 24000

Question Number : 52 Question Id : 10343552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest (in Rs), if Rs 7500 was invested for 2 years at 10% p.a. compounded half-yearly?
Options :

1. % 1050

2. % 1320



3. ¥ 1575
4. # 1150

Question Number : 52 Question Id : 10343552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh gl SIS (JUY H) T B2, TS 7500 SUT BT 2 8 & fore ufa af 10% bt o= T 9 fvan man a1 5t sidfaritfer U § Tehafg i 82
Options :

1. % 1050

2. % 1320

3.9 1575

4. % 1150

Question Number : 53 Question Id : 10343553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man decided to cover a distance of 12 km in 144 minutes. He decided to cover two thirds of the distance at 4 km / hr and the remaining at some
different speed. Find the speed after the two third distance has been covered.

Options :

1. ® 13 km/hr
2. % 10 km/hr
3. % 8km/hr
4. % 12 km/hr

Question Number : 53 Question Id : 10343553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad 7 144 T T 12 km BT g3 70 T3 H1 (07 foram | I g8 131 fATS 4 km / hr & 00 A BT 3R /Y B $B S T I 704
foraT| 31 TS g3l T A & &1 &1 TIfd J1d B

Options :

1. % 13 km/hr

2. ¥ 10 km/hr



3. #* 8km/hr
4. % 12 km/hr

Question Number : 54 Question Id : 10343554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a person walks at 16 km/hr instead of 10 km/hr, he would have walked 30 km more. The actual distance travelled by him is km.
Options :

1. # 80

2. % 60

3.9 50

4. % 100

Question Number : 54 Question Id : 10343554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ®Is Afad 10 km/hr & SO 16 km/hr &1 T I I &, 1 I8 30 km eI I U1 | SUb GRT a4 B 718 ARATddD g3l km g1
Options :

1. % 80

2. % 60

3. ¥ 50

4. % 100

Question Number : 55 Question Id : 10343555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a bit of work in 10 days, which B alone can do in 12 days. How long both working together can do the work?
Options :

1. # 62/11 days

2. % 60/11 days

3. % 72/11 days

4. % 9 days



Question Number : 55 Question Id : 10343555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A frdft B @Y 10 foi & B Gopar 3, O B 3idpalt 12 e § & Tpdr 81 1 Ficaex 11 &b fohd TH0 § BT &1 B Tohd 82
Options :

1. % 611 faa

2. ¢ 60/11 faa

3. % 711 &

4. % 9feq

Question Number : 56 Question Id : 10343556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B undertake to do a piece of work for Rs. 480. A can do it in 20 days and B can do it in 40 days. With the help of C, they finish it in 8
days. How much should C be paid for his contribution?

Options :

1. # Rs 152
2. % Rs 180
3. ¥ Rs 192
4. % Rs 186

Question Number : 56 Question Id : 10343556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR B480FTT S U TF SR FRA BT aaTSd 81 AT 20 RN A FR Ipar g SIRB ST 40 RA A FR Ipar g1 C B TgIAT A, I3 8
G T QI HRA 81 C BT 3D ANTGM o fod fohre=11 YT foan ST a1g e

Options :

1. % 152U
2. % 180 >UU¢
3. ¥ 192 %00
4. % 186U




Question Number : 57 Question Id : 10343557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of radius two Cylinders A and B are in the ratio of 2:1 and their heights are in the ratio of 2:1 respectively. The ratio of their total
surface areas of Cylinder A to B is?

Options :
1.9 4:1
2. % 1:2
3. % 2:1
4. % 4:3

Question Number : 57 Question Id : 10343557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS &1 9T A 3R B &1 F501 &1 3T, 2:1 & U | § 3R 39H] $Hals U 2:1 F U A g1 S0 A ¥ B & 3% $d U8
AT DT 0T T ]2

Options :

1. ¢ 4:1

2. % 1:2

3. % 2:1

4. % 43

Question Number : 58 Question Id : 10343558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pie chart below gives percentage of students preparing for various government exams. Ratio of male to female students is 3:2 for all the
exams. Total number of students is 15000.



What is the ratio of male students appearing for Bank PO exam to female students appearing for SSC CGL?

Percentage of Students preparing
for government exams

Options :

1. % 13:23
2. % 20:13
3.¥21:16
4. % 16:21

Question Number : 58 Question Id : 10343558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e mar urg = faftrs TR wdienatt Bt Rl R aral BT o1 ufawrd a1 8 1 9t uienait & forg qow ¥ Afeer o &1 siurd
3:2 81 BHEI B Hd F=AT 15000 B




% PO TRI&T T 93+ aTdl YN S 1 SSC CGL & ol IUTRT g arelt Al ST § SUTd &1 82
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EORIGEIG]

Options :

1. % 13:23
2. % 20:13
3.¥21:16
4. ® 16:21

Question Number : 59 Question Id : 10343559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the percentage of students passed in the given period.
If there are 80 girls in the class of 2015, then how many girls failed that year?



—=—Girls —=Boys

0% -

80%% B0% B0%

BO0% -
T0% -
&0% -
50% -

30% -
20% -
10% -

Percentage of students who passed

2014 2015 2016 2017 2018 2015

Year

Options :
1. % 18
2.¥ 16
3. % 26
4. % 24

Question Number : 59 Question Id : 10343559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafeRad Y o & 8 srafdl 7 Il g1 ard B & wiemid 31 a=ifar gl
g 2015 P HeT T 80 TShdl §, ol 3T T a1 Aaibal S0l a2



It ot = vfaee
§

2014 201% 2016 2017 2018 2018

Options :
1. # 18
2.¥ 16
3. % 26
4. % 24

Question Number : 60 Question Id : 10343560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph below represents the sales by company A, B, C and D in different cities.
Total cost of production is Rs 50,00,000.



If C's production is 10% of total cost of production, then total sales of company C is what percent of total cost of production by company C?

B Delhi ® Maharashtra ® Kolkata
00

B00 4
700
eoo -
500 -
m_
300
200
100 -
o
A B c D

Company

Total sales (inthousands)

Options :

1. ¥ 160%
2. % 120%
3. % 140%
4. ® 150%

Question Number : 60 Question Id : 10343560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fear o IR 7T At weRi H Ut A, B, € 3R D gRIT {9t &1 Ul a1 g1
3T &1 Fd AT 50,00,000 TUT B |
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900 -

700 4

3
600
E 500
400 1
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Options :
1. ¥ 160%
2. % 120%
3. % 140%
4. % 150%
General English
Group Number : 4
Group Id : 1034354
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks : 20
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Section Id : 1034354
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Sub-Section Id : 1034354
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 10343561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Marge told the police/ officers that, “I haven’t seen/ them since last week.”
Options :

1. ® Marge told the police

2. ¥ officers that, “I haven’t seen

3. % them since last week.”

4. % No Error

Question Number : 61 Question Id : 10343561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Marge told the police/ officers that, “I haven’t seen/ them since last week.”
Options :



1. % Marge told the police
2. ¥ officers that, “I haven’t seen

3. % them since last week.”
4. % No Error

Question Number : 62 Question Id : 10343562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly had she walked into the/ room that she saw someone/ jumping out the window.
Options :

1. # Hardly had she walked into the

2. ¥ room that she saw someone

3. % jumping out the window.

4. # No Error

Question Number : 62 Question Id : 10343562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly had she walked into the/ room that she saw someone/ jumping out the window.
Options :

1. # Hardly had she walked into the

2. ¥ room that she saw someone

3. ® jumping out the window.

4. ¥ No Error

Question Number : 63 Question Id : 10343563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Beside ability, the other essential element) in political success is luck.
Options :

1. ¥ Besides ability, the other essential element

2. % Beside ability, another essential element

3. % Besides ability, the other essential elements

4. ® No correction required

Question Number : 63 Question Id : 10343563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Beside ability, the other essential element) in political success is luck.
Options :

1. ¥ Besides ability, the other essential element

2. % Beside ability, another essential element

3. # Besides ability, the other essential elements

4. ® No correction required

Question Number : 64 Question Id : 10343564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I wouldn't stand for (that sort of behaviour from him, if I was) you.
Options :
1. # this sort of behaviour from him, had I been

2. ¥ that sort of behaviour from him, if I were



3. #* this sort of behaviour from him, if [ was

4. # No correction required

Question Number : 64 Question Id : 10343564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I wouldn't stand for (that sort of behaviour from him, if I was) you.
Options :

1. * this sort of behaviour from him, had I been

2. ¥ that sort of behaviour from him, if I were

3. # this sort of behaviour from him, if I was

4. # No correction required

Question Number : 65 Question Id : 10343565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is possible to a number of different techniques in her work.
Options :

1. % demur

2. % discern

3. # disabuse

4. % desiccate

Question Number : 65 Question Id : 10343565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



It is possible to a number of different techniques in her work.
Options :

1. % demur

2. ¥ discern

3. ® disabuse

4. % desiccate

Question Number : 66 Question Id : 10343566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

A little more discipline in thought would be appropriate before we the bird colonels and stars.

Options :

1. ¥ castigate
2. # censure
3. % coalesce

4. % condone

Question Number : 66 Question Id : 10343566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

A little more discipline in thought would be appropriate before we the bird colonels and stars.

Options :

1. ¥ castigate
2. ® censure
3. % coalesce

4. % condone

Question Number : 67 Question Id : 10343567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

I saw myself

P. and agitator and
Q. behind-the-scenes
R. lobbyist on some
S. as an advocate

very minor aspects of it.
Options :

1. ¥ SPRQ

2. % SQRP

3. % SPQR

4. % SRQP

Question Number : 67 Question Id : 10343567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

I saw myself

P. and agitator and
Q. behind-the-scenes
R. lobbyist on some
S. as an advocate

very minor aspects of it.



Options :

1. ¥ SPRQ
2. % SQRP
3. ¥ SPQR
4. % SRQP

Question Number : 68 Question Id : 10343568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Hawking studied physics at University College, Oxford (B.A., 1962), and Trinity Hall, Cambridge (Ph.D., 1966).

P. In 1971 he suggested the formation, following the big bang, of numerous objects containing as much as one billion tons of mass but occupying
only the space of a proton.

Q. He continued to work despite the disease’s progressively disabling effects.
R. In the early 1960s Hawking contracted amyotrophic lateral sclerosis, an incurable degenerative neuromuscular disease.
S. Hawking worked primarily in the field of general relativity and particularly on the physics of black holes.

These objects, called mini black holes, are unique in that their immense mass and gravity require that they be ruled by the laws of relativity, while
their minute size requires that the laws of quantum mechanics apply to them also.

Options :

1. # RPSQ
2. ¥ RQSP
3. % PSQR
4. ¥ PRSQ

Question Number : 68 Question Id : 10343568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a



paragraph.
Hawking studied physics at University College, Oxford (B.A., 1962), and Trinity Hall, Cambridge (Ph.D., 1966).

P. In 1971 he suggested the formation, following the big bang, of numerous objects containing as much as one billion tons of mass but occupying
only the space of a proton.

Q. He continued to work despite the disease’s progressively disabling effects.
R. In the early 1960s Hawking contracted amyotrophic lateral sclerosis, an incurable degenerative neuromuscular disease.
S. Hawking worked primarily in the field of general relativity and particularly on the physics of black holes.

These objects, called mini black holes, are unique in that their immense mass and gravity require that they be ruled by the laws of relativity, while
their minute size requires that the laws of quantum mechanics apply to them also.

Options :

1. % RPSQ
2. ¥ RQSP
3. ¥ PSQR
4. % PRSQ

Question Number : 69 Question Id : 10343569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

reconcile
Options :

1. ¥ disperse

2. % cynic

3. # pacify

4. % gophisticated

Question Number : 69 Question Id : 10343569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

reconcile
Options :

1. ¥ disperse

2. % cynic

3. # pacify

4. # gophisticated

Question Number : 70 Question Id : 10343570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

proliferate
Options :

1. # amenable
2. # susceptible
3. % imperfect
4. ¥ escalate

Question Number : 70 Question Id : 10343570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

proliferate
Options :

1. # amenable
2. # susceptible
3. * imperfect
4. ¥ escalate



Question Number : 71 Question Id : 10343571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # disilussion

2. ¥ disillusion

3. % disilusion

4. % dissillusion

Question Number : 71 Question Id : 10343571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # disilussion

2. ¥ disillusion

3. # disilusion

4. % dissillusion

Question Number : 72 Question Id : 10343572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. # pervasive

2. # phlegmatic

3. % phenomanon

4. # precarious

Question Number : 72 Question Id : 10343572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ® pervasive

2. % phlegmatic

3. % phenomanon

4. ® precarious

Question Number : 73 Question Id : 10343573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Get down to brass tacks

Options :

1. # To politely ask for someone’s full attention

2. # Knuckle tapping on wood in order to avoid some bad luck
3. % You frequently see the same people in different places

4. ¥ To become serious about something

Question Number : 73 Question Id : 10343573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Get down to brass tacks

Options :

1. # To politely ask for someone’s full attention

2. # Knuckle tapping on wood in order to avoid some bad luck
3. # You frequently see the same people in different places

4. ¥ To become serious about something



Question Number : 74 Question Id : 10343574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Finding your feet

Options :

1. # An aggressive and bold confrontation

2. ¥ To become more comfortable in whatever you are doing
3. # It seems likely, reasonable, or typical

4. % Deteriorating and headed for complete disaster

Question Number : 74 Question Id : 10343574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Finding your feet

Options :

1. ® An aggressive and bold confrontation

2. ¥ To become more comfortable in whatever you are doing
3. # It seems likely, reasonable, or typical

4. ® Deteriorating and headed for complete disaster

Question Number : 75 Question Id : 10343575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Periods of time that are very important in history
Options :

1. # Crusade

2. ¥ Epoch



3. # Flotilla

4. % Frivolous

Question Number : 75 Question Id : 10343575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Periods of time that are very important in history
Options :

1. # Crusade

2. % Epoch

3. # Flotilla

4. # Frivolous

Sub-Section Number : 2
Sub-Section Id : 1034355
Question Shuffling Allowed : Yes

Question Id : 10343576 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The Bermuda Triangle occupies a disturbing and almost unbelievable place in the world's catalogue of unexplained mysteries. More than a
hundred planes and ships have vanished in this area into the air, the first ever case accounted for in 1945, and more than a thousand lives have
been lost, without a single body or even a piece wreckage from the vanishing planes or ships having been found. Many of the planes concerned
have vanished while in normal radio contact with their base until the very moment of their disappearance, while others have radioed the most
extraordinary messages, implying that they could not get their instruments to function, that their compasses were spinning, that the sky had
turned yellow and hazy on a clear day, and the ocean, which was calm nearby, didn't look right without further clarification of what was wrong.

Sub questions

Question Number : 76 Question Id : 10343577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is true about Bermuda Triangle?

Options :

1. #® Costing more than a hundred thousand lives in the sea and the air.
2. #® Explained disappearances of planes and ships.

3. # Losing absolute contact with base and outside world.

4. ¥ Finding no wreckage of the vessels which crashed and disappeared into the triangle.

Question Number : 77 Question Id : 10343578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first case of unexplained disasters in the Bermuda Triangle recorded?
Options :

1. #1915

2. % 1954

3.9 1945

4. % 1932

Question Number : 78 Question Id : 10343579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the context of the passage what would you not associate Bermuda Triangle with? Choose one option.
Options :

1. # Unnatural events

2. ¥ Explicable events

3. # Unexplained mysteries

4. ® Disturbing events

Question Number : 79 Question Id : 10343580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following anomaly is incorrect and has not been relayed via radio contact? Choose one option.
Options :

1. ¥ Change in the atmospheric pressure



2. # Instrumentation malfunction
3. % Compass Malfunction
4. % Change in the colour of the sky and haziness on a clear day.

Question Number : 80 Question Id : 10343581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¥ The Bermuda Triangle occupies a disturbing and almost unbelievable place in the world's catalogue of explicable mysteries.
2. # Many of the planes after entering the Bermuda Triangle lost radio contact with the base.

3. # More than a hundred planes and ships have disappeared into the triangle.

4. # There hasn't been found a single piece of wreckage or any bodies associated with the disasters which took place in the Bermuda triangle.

Question Id : 10343576 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The Bermuda Triangle occupies a disturbing and almost unbelievable place in the world's catalogue of unexplained mysteries. More than a
hundred planes and ships have vanished in this area into the air, the first ever case accounted for in 1945, and more than a thousand lives have
been lost, without a single body or even a piece wreckage from the vanishing planes or ships having been found. Many of the planes concerned
have vanished while in normal radio contact with their base until the very moment of their disappearance, while others have radioed the most
extraordinary messages, implying that they could not get their instruments to function, that their compasses were spinning, that the sky had
turned yellow and hazy on a clear day, and the ocean, which was calm nearby, didn't look right without further clarification of what was wrong.

Sub questions

Question Number : 76 Question Id : 10343577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true about Bermuda Triangle?
Options :

1. # Costing more than a hundred thousand lives in the sea and the air.



2. #® Explained disappearances of planes and ships.
3. % Losing absolute contact with base and outside world.

4. ¥ Finding no wreckage of the vessels which crashed and disappeared into the triangle.

Question Number : 77 Question Id : 10343578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first case of unexplained disasters in the Bermuda Triangle recorded?
Options :

1. #1915

2. % 1954

3.9 1945

4. % 1932

Question Number : 78 Question Id : 10343579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the context of the passage what would you not associate Bermuda Triangle with? Choose one option.
Options :

1. # Unnatural events

2. ¥ Explicable events

3. # Unexplained mysteries

4. # Disturbing events

Question Number : 79 Question Id : 10343580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following anomaly is incorrect and has not been relayed via radio contact? Choose one option.
Options :

1. ¥ Change in the atmospheric pressure

2. % Instrumentation malfunction

3. # Compass Malfunction

4. # Change in the colour of the sky and haziness on a clear day.



Question Number : 80 Question Id : 10343581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¥ The Bermuda Triangle occupies a disturbing and almost unbelievable place in the world's catalogue of explicable mysteries.

2. ® Many of the planes after entering the Bermuda Triangle lost radio contact with the base.

3. # More than a hundred planes and ships have disappeared into the triangle.

4. ® There hasn't been found a single piece of wreckage or any bodies associated with the disasters which took place in the Bermuda triangle.
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Question Number : 81 Question Id : 10343582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 9 39 fad ey &1 9g7 & o feu e IfY - fawse Weg & gl I o1 fdweu §
afe + oy

Options :

|. % gy
2. % gfgerdl
3. ¥ T
4. % et

Question Number : 81 Question Id : 10343582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 A 39 fab ey &1 9g7 &3 o fau e TfY - fase Wee & gl A o1 fdwpeu §
gfe + 31fu

Options :

1. % ggfy
2. % gigardl
3. ¢ Ty
4. % geral

Question Number : 82 Question Id : 10343583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafaRed Uy # IR fadwel 7 T 39 fdwmed &1 997 33 Il doH st ol Jal [dbed Bl 1
Options :

1. % AN

2. % 36

3. % Tiq

4. THA

Question Number : 82 Question Id : 10343583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRea Uy & IR fawedl § ¥ 3 fadhed &1 I8 Hx off did 2eg B Aol [dHed ol 1
Options :

1. ® HH

2. % 33

3. % Fig

4, ¥ UDF

Question Number : 83 Question Id : 10343584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 A 39 fab ey &1 9g7 &3 o feu U TfY & I8} 9fY) - fie Xieg &1 fdwbeu §

3eer
Options :

1. ¢ 3{g + 3}
2. % 3l + X
3. % 3el+8Y
4. % g+

Question Number : 83 Question Id : 10343584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafed vy &, aR fowdl 7 9 39 fawed &1 9g &3 ot fau 17U WY & Uel OfY - fawdse 2reg &1 fdweu

IR
Options :

1. % 3{g + 35}
2. % 3lg +R
3. % 3+
4. % g+

Question Number : 84 Question Id : 10343585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad y & R fawed § 3 39 faoed &1 79 o3 S 3T T8 a1y 3 fRad ®H & 1T Suged Wee o1 9g! fdbeu 3
Aal o1 fAaw T8t 8

Options :

1. ® 3ffdd UfcRIY

2. % OHRI®

3. % GEAIRR

4. fa=mr

Question Number : 84 Question Id : 10343585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fowedl & T 39 fdwed &1 99 &3 o fAU 78 a1ed & Rad ®ITH & forg Suged Uss &1 Ua! fdded §
AFal & g 8 8

Options :

1. % 31 UfaRIY
2. % HHRD

3. % God IR




4. ¢ faAI

Question Number : 85 Question Id : 10343586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad v o TR fawet § @ 39 fawed &1 7oH &3 Sl Y Ueg 1 Ul fadheu g 1
Options :

1. % o=y

2. ¢ g

3. % 3ndiH

4, % JETTHL

Question Number : 85 Question Id : 10343586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy & R fawedl & 3 39 fddhed &1 999 o Sl YG Xeg & Aol [dbed g |
Options :

1. % By

2. ¥ gfd

3. % 3f1dH

4, % 3T

Question Number : 86 Question Id : 10343587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafaa uy & aR fowedl & I 39 fdwey &1 999 &3 off fAU 78 Wsg g1 & 31 &1 98! faweu § 1

3 - 3

Options :

1. % YIS, Qe

2. % AR , 96 P} a%q




3. ¢ Yo 984 &1 9%
4. % BT, Ul

Question Number : 86 Question Id : 10343587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed vy o TR faweal § ¥ 39 fadhey &1 7= &3 S fou U Trsg W & 31 &1 Il fadrea 8 1

3T - 3

Options :

1. % YIS, QMeidr

2. % TR , 96 P} a%q
3. ¢ YIS 93 ® a%g
4. % HU Ul

Question Number : 87 Question Id : 10343588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 A 39 fahcn o1 9g7 &2 & feu 74 areiz & forw Ue Weg &1 9et fddeu gl 1
Siifdd I &1 g1

Options :

1. ¢ forSitfau
2. % oy
3. % TR
4. % foyg

Question Number : 87 Question Id : 10343588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafafRad s 7 IR fawedl & ¥ 39 faweu &1 9949 &3 o faU 71U a1iel & foft U Ueq &1 Jal f[dwbed 8l 1




Siifad I8 &1 g1

Options :

1. ¢ foroitfas
2. % oy
3. % forgma
4. % g

Question Number : 88 Question Id : 10343589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR fowedl 7 @ 39 fadeu &1 997 & i foT TN a1 & &1d & He 1 Jal fdbeu g 1
g1 d¢ g gab! g

Options :

1. % T GaHoTd

2. % gdeqHe Hiasd 1
3. % gdoqyg YdbId

4. ¢ TG Ydbral

Question Number : 88 Question Id : 10343589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 A 39 fah ey &1 97 & &l feT 7T a1 & o1d & He &1 Jel fdpu g 1
P §g 81 gb! gl

Options :

1. % FRTH qadDTd

2. % gdoqHc Hidsd Brd
3. % gdeqHg YadTd

4. ¢ Wi YbTe




Question Number : 89 Question Id : 10343590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR foswedl & T 39 fadwed &1 999 &3 ol foU T8 areg & 9 &1 9g! fddea g 1
gl &l el M fHerdl € HfeT S/ HH Bed 8 1

Options :

1. ¢ ggad I

2. % fqYTaTae aIRd

3. % WA dIH]

4. % foy 9|y

Question Number : 89 Question Id : 10343590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafea oy o IR fawed! & 9 39 [daed &1 99+ &< off faT T4 a1 & U &1 ol f[Adbed © 1
gl al Afedr e firerd! ¢ St S8 M Hed B 1

Options :

1. ¢ Agad a1

2. % fqyTaras aIR

3. % ORI dIH]

4. % Oy 91|

Question Number : 90 Question Id : 10343591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea uy & aR fowedl & T 39 fawey &1 999 &2 ol foU U areg & it & He &1 9e fdbed g 1
Jg 31d1 dl 39 it aRg et S |

Options :

1. % Hegrd




2. Fopdrd
3. % g qEd
4. % 1A YAH

Question Number : 90 Question Id : 10343591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed oy & aR fowedl & T 39 fawey &1 999 &1 il foU T8 arag & it & He &1 9e! fdbed g 1
dg 31d1 dl 39 i aRgH e S |

Options :

1. % dagrd

2. ¢ Yhard

3. % AT gAD
4. % Y b

Question Number : 91 Question Id : 10343592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR iecal 7 9 39 fad ey &1 9g7 B3 Sl feT U a1 & U8 & U BT I8l faped g 1

9% o R UadT U1 99 I d ga|
Options :

1. % IRAYAH

2. % TETfQeEde

3. % rAASIYd g

4. ¢ 3 gIdd U

Question Number : 91 Question Id : 10343592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy & IR el 7 @ 39 fadeu o1 97 &3 Ot foU TN are & U & A &1 Jg! fapeu g 1




ag fa HR Tedl U1 dd Hbel gaT|
Options :

1. % RMIdDH

2. % YAfdRIa®

3. % gAgaiyd gef

4. ¢ 3 dIad U

Question Number : 92 Question Id : 10343593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafafed vy & ,aR fasedl 4 9 39 faded &1 98+ R Nt faR1H fag gad 91 &1 Ugl fadhed 37 |
Options :

1. % I T ST SfTars § &g, H Ig el § .9 169 , 3MTUdhT Igal Ig (v |

2. % I G S A H gl , " T g (Bl § 9 W18 , 31U dedl Ig o

3. % I T S ATaTS & Fal, " H gg el § .9 16 , 3T Igdl Ig [ |

4. I T Sl 1A | Fal , " H g (el § L9 I18d , 3{TUehT dgdl ag [t |

Question Number : 92 Question Id : 10343593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered gy & IR fadwedl # O 39 fadhed &1 9 &3 oif faH g o a1l o1 gl fdbed o7 |
Options :

1. % I G ST 3Marst # gl , H 9g el § 99 16 , 31TUdhT Il ug ke |

2. % I G: Al A H Hal, " T Ig (Bl § 5 W18, 3MUHT dadl Ig 1o "

3. % I G S ATATS & Fal, " H Ig el § .9 A6 , MU Igal Ig [ |

4. I G ST SMTa H &gl , " T g FOell § ,97S W18 , 3119 dgdl Ig (ol |"

Question Number : 93 Question Id : 10343594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy o IR faswedl & O 39 fdeded &1 994 &< Sl favw fag god a1 &1 9el fadbeu 31 |
Options :

1. v qdf, o, difia anfe wRda et «f gart Tepfa & 3 g

2. % Tt , for Tl snfe Ut wart o g9Rt Svpfa & siT g |

4. % Tl | o . St anfe wRd el 1 89 Tepfa & 3§ |

Question Number : 93 Question Id : 10343594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeed uy & IR fadwedl # O 39 fadhed &1 9 &3 it fav g o are) o1 gl fddbed oY |
Options :

1. v gl | o, gefia anfe yRda wemd +ft g9 Tepfa & 3§ |

2. % T, ot i 3nfe YR St +f AR Txpfa & 3T R |

4. % Toff | o - T onfe yReT Had o g Sl & S| |

Question Number : 94 Question Id : 10343595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad v & TR fawenl # ¥ 39 fawed &1 7o &L S fou 71U diifad & Tet o aran faweu g 1
ATl & Y ITdl & Tl A 1

Options :

1. % H¢ IO I 8 R N R @18

2. ¥ $F AN I U 8] S DI YT THIA 8 1

3. % 3T 3¢ ATYH & forg gk 1 I g1 da &1 |

4. % Y 3R AoIR Afad SR B 1 HRaT |

Question Number : 94 Question Id : 10343595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaied v o TR fadwenl # 9 39 famed &1 7 &1 S fou TU dipifad & Jel srf aran faweu g 1
ATl o Yd STl & a1 A 1

Options :

1. % % a9 I 5 R HI I A1 8|

2. H3 AN A Y T8l 88 DI HIH THSA 6 1

3. % 30 3fed oY o o TR &1 YR g1 R &1 |

4. % Wl SR AoR Afad el w1 ¥ e g |

Question Number : 95 Question Id : 10343596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad v & TR fawel # 9 39 fawed &1 7o - S fou U geTar & Tet s ara fadweu g 1

HIYT 3Dl
Options :

1. % TSEg g
2. % Udehl §1d
3. ¢ b gl
4, % TREHT G

Question Number : 95 Question Id : 10343596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad oy & TR fawe # O 39 fadmed &1 7o & off 3T U geTar & et o arar fadweu g 1

HIYT 3AchAl
Options :

L. % TSI I
2. % Ul a1
3. ¢ QD g




4. % TG

Sub-Section Number : 2
Sub-Section Id : 1034357
Question Shuffling Allowed : Yes

Question Id : 10343597 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

U 7TQ e @Y eaYd e Ug SR U 7Y Ul T garad SR A

T 2001 T YR T TSfHaT 3R TSI BT ST 932/1000 AT 3R 2011 TP 3MTd-3MTd TE ST 918/1000 T T TT AT | 3BT S T8 8
foh SR T Xgd a1 a1 1 1, U8 3Hidel ged-ucd T fa- Yl &t fRufd o 31 SIEem | <adt sams 9t ugrai &1 YURY U T3t A
22 SFERT 2015 &1 ITHTId, giaron & &1 ot | gRaron & g A &1 79 RO g8 fei1-3iqurd & aifie SidR 81 I8 TioHT X o &I JAfdd
X GU NYTEAT Sff 3 X <=1 T 3M1ETe s, 3R Tt SIaTRi &1 Uahale BIdhR Aidhd! ol &l SIHERedT & dferd & &l Jahed
a1 59 TS BT SRR - HaTed &l T T g, A § - AT 3R 91 [ApRy Ha7ed, WA URAR BHedrul HaTdd duT A1d J91H
AT |

Sub questions

Question Number : 96 Question Id : 10343598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG &b IR 008 T YRA B TS dsiobdl BT SUTd faar 41 2
Options :

1. ¥ 932/ 1000

2. % 834/1000

3. # 900/ 1000

4. % 742 /1000

Question Number : 97 Question Id : 10343599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3N 9T UGISH DT JURY T T A Sff 4 D Bt &t 2

Options :



1. % 2] BgaRt 2014 B IR U, TS
2. % 11 Qa8 2015 DI ANYGR HERTY
3. % 25 9 2011 SAGR , THTCRT
4. % 22 SFa% 2015 I Y, gRAmom

Question Number : 98 Question Id : 103435100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ' BT Al fawdg Do |
Options :

1. % HF+ 9

2. HA + 3MTe

3. % T + 3

4. % TF + 3

Question Number : 99 Question Id : 103435101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= o & foo AFTaal S a1 747 2

Options :

1. % o1 faer Harerd

2. % &1 HATY

3. ¢ Ofga 3R 91 fIehTy HATer, TRy URAR STl HATAT duT {194 Sa1e e |
4. % g HATY

Question Number : 100 Question Id : 103435102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ge & fore Ifd 2vs ol |

Options :
1. ¢ &) S137 9] Ugrai

2. % TSB! 3R ASHI BT 3T




3. % AShl PpI SIS
4, % ASfHIl o [T IS BT SR

Question Id : 10343597 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

T 3T 70 TeIiRT @ eHYE® U SR U 7Y Ul &1 qarad SR g

T2001 H HRA H TSB! IR ASHI BT SIIATd 932/1000 UT 3R 2011 TP HTA-3MTd T SIUTd 918/1000 T T 71T UT| TP 3 T8 §
fob 3R THY Tgd I8! =d1 7T oY, TG Sichel Ucd-ucd Ueb TG Jdl o R § 311 SR | <ot Ssf 9t Uglaf &1 YHRH Fy Hall A
22 SHERT 2015 B UMY, SRATON H Bt 2t | gRAT0N & § H= &1 B HRUT 981 feivT-3ruTd H Faiide 3ok g | I8 ioi1 X o &I Jafdd
HRd Y VU off A T = BT MMRTE o, SR Tt S2raridl &1 Tdhale 8IdhR Tsiohdl &l HH SHY] ! Udfad B B Yol
{3 | S TS o1 SRIVGR - HATCR! &1 Qi1 T |, A § - Afgel SR a1d s HaTad, Ty URaR HedTul HAad dUT A Sared
T |

Sub questions

Question Number : 96 Question Id : 10343598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRE P TR 008 B YR T ASHT ASfhal BT SUTd fad=r o1 2
Options :

1. % 932/ 1000

2. % 834 /1000

3. % 900/ 1000

4. % 742 /1000

Question Number : 97 Question Id : 10343599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST ST ot UGS BT YURY T HA A Sl 5 el bt &Y 2

Options :

1. % 2] BgdR1 2014 I IR UG, TS
2. % 11 % 2015 B ANTYGR HERTY



3. % 251 2011 STIAYR , HAUGK
4. ¥ 22 SFa3 2015 I UHGd, gRamon

Question Number : 98 Question Id : 103435100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ' BT Al fawdg Do |
Options :

1. % HF+ 9

2. HA + 3MTe

3. % T + 3

4. % TF + 3

Question Number : 99 Question Id : 103435101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= o & foo AFTaal S a1 747 2

Options :

1. % Yool faer Harerd

2. % &1 HATY

3. ¢ Ofga 3R 91 fIehTy HATer, TRy URAR STl HATAT duT {194 Sa1e e |
4. % g HATY

Question Number : 100 Question Id : 103435102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fod Ifad N il |
Options :

1. ¢ &) S137 9] Ugrai

2. % TSB! 3R ASHI BT 3T

3. % TSl Pl SRS




4. % ISfoal o forg T &1 SRy
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Group Maximum Duration :
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Show Attended Group? :
Edit Attended Group? :
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Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :
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Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 103435103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The solution of the equation (3xy?) dx + (3x?y + y*) dy =0 is

Disciplinel

6
1034356
0

0

No

No

0

20

No

Disciplinel

1034356
1

Online
Mandatory
20

20

20

Yes

1
1034358
Yes



Options :

1. ® 3xy?+6+y*+4+C
2. % 3%y +2+y*+4+C
3.9 3%y2+2+y*+4+C
4. % 3x2y2+5+y*+2+C

Question Number : 101 Question Id : 103435103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(3xy?) dx + (3x%y + y*) dy = 0PTEAT
Options :

1. % 3xy>+6+y*+4+C

2. % 3x%y +2+y +4+C

3. ¥ 3x%y2 2+ y*+4+C

4, % 3x%y2+5+y*+2+C

Question Number : 102 Question Id : 103435104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The unit vector normal to 4x*> + 2 y? - 2Z =1 at the point (1,-1, 2) is
Options :

1. % (-81-4j-2k)-V84

2. % (81+4j+2k)+V84

3. % (8i+4j-2k)+V84

4.4 (8i-4j-2k84

Question Number : 102 Question Id : 103435104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LT (1,-1,2) Wdx2 +2 y2- 27 = 1 B T AT 3HTS e B
Options :

1. ® (-8i-4j-2k)+V84



2. % (81+4j+2k)+V84
3. % (8i+4j-2k)+V84
4.9 (8i-4j-2k+V84

Question Number : 103 Question Id : 103435105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the position vector in the spherical polar coordinate?
Options :

1. ¥ r (sinOcose i + sinOsing j+ cosO k)

2. # 1 (sinOcosy i + cosOsing j+ cosO k)

3. % 1 (sinOcos@ i + sinOsing j+ sinO k)

4. ® 1 (cosOcos@ i + sinOsing j+ cosO k)

Question Number : 103 Question Id : 103435105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MR et Fowie H fufa afew s g2
Options :

1. ¥ r (sinOcose i + sinOsing j+ cosO k)

2. % r(sinOcosy i + cosOsing j+ cosO k)

3. % 1 (sinOcos@ i + sinOsing j+ sinO k)

4. # 1 (cosOcos@ i+ sinOsing j+ cosO k)

Question Number : 104 Question Id : 103435106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'p' is the probability of success and 'q' is the probability of failure for 'n' no. of trials, then the mean of the Poisson distribution is
Options :

1. % n2pq

2.¥ np

3. #¥ npq



4, \/npq

Question Number : 104 Question Id : 103435106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 'p' THAAT B UIRIGT § 3R 'q', TI&UI D1 AT 'n' & [ [awarar &1 wiiiesdr g, df @il (S Ieg=H &1 J1e §
Options :

1. ® n?pq

2. % np

3. % npq

4. % \npq

Question Number : 105 Question Id : 103435107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the acceleration of the body of mass 25 kg if constant force of 75 N applied on it?
Options :

l. % Sms>

2. % 3ms?

3. % Ims™

4. % 6 ms?

Question Number : 105 Question Id : 103435107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 kg SOTHM & fUE BT @RI &1 § TG 39 W 75 N HT (Hadids §& TR ST?
Options :

1. % Sms™

2. % 3 ms?

3. % Ims?

4. % 6ms?




Question Number : 106 Question Id : 103435108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following have same unit to work?
Options :

1. ¥ energy

2. % mass

3. ¥ momentum

4. ¥ torque

Question Number : 106 Question Id : 103435108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefad & 4 frg & o1 & forg T 51 @2
Options :

1. ¢ 3ol

2. % gy

3. % HaT

4. % qergul

Question Number : 107 Question Id : 103435109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the unit of viscosity?
Options :

1. # Candela

2. # Pascal

3. % Nsm?

4. ¥ N-kg

Question Number : 107 Question Id : 103435109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafad & § o9 O s B 31 82
Options :

1. % Hfsan

2. % JRhd

3. ¥ Nsm

4. ¥ N-kg

Question Number : 108 Question Id : 103435110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not the example of central force?
Options :

1. ¥ Frictional force

2. % Spring force

3. % Electrostatic force

4. % QGravitational force

Question Number : 108 Question Id : 103435110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad o & &F 91 <10 9 BT IGT60I ol 57
Options :

1. ¢ gy §d

2. % T BT 99

3. % faggaifa® §a

4. ® TTEATHYY g

Question Number : 109 Question Id : 103435111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
When the length of the simple pendulum is increased to 16 times, the time period becomes

Options :

1. # triple

2. % double

3. # cight times

4. % four times

Question Number : 109 Question Id : 103435111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O YR AAH DI dalTs 16 AT dP 9T of St 5, Al Sfadabra HESIsIE
Options :

1. ® fqi

2. % qIgY

3. % 36 dR

4, ¢ IR IR

Question Number : 110 Question Id : 103435112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In non-inertial frame of reference

Options :

1. # laws of motion remains same

2. ¥ laws of motion vary from one frame to another
3. % first law remains same

4. % Second law does not change

Question Number : 110 Question Id : 103435112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS e ha | |




Options :

1. % T & o I Ed

2. ¢ A & o T e T g e B T g1 §
3. % Ugell w98t Ted1 8

4, % IR Y 81 SGardl

Question Number : 111 Question Id : 103435113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the energy of the photon is 9 x 107*° J, the momentum is
Options :

1. % 0 kg ms™

2.9 3x 107 kg ms™

3. % 9x 102 kg ms™!

4, % 2x 10?7 kg ms™

Question Number : 111 Question Id : 103435113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g I &1 $Holl 9 x 10721 8, d AT g
Options :

1. % 0 kg ms™

2. % 3 x10% kg ms™

3. % 9x10"2kg ms™!

4, % 2x 10 kg ms™

Question Number : 112 Question Id : 103435114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the correct relation between force and electric field?
Options :



1. * F=2qE
2. % F=q+E
3. % F=E+q
4. ¥ F=qE

Question Number : 112 Question Id : 103435114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 3R faegd &7 & i ue Gey |2
Options :

1. ®* F=2qE

2. ®* F=qg+E

3. ® F=E+q

4. ¥ F=qE

Question Number : 113 Question Id : 103435115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of magnetic field inside the solenoid?
Options :

1. ¥ ponl

2. % wonl+2

3. % 3uonl

4. % Suonl

Question Number : 113 Question Id : 103435115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORATITST & 3R JaDH I & T T 1 57
Options :

1. ¥ ponl

2. % wonl+2



3. % 3ponl
4. ® 5],1.01’11

Question Number : 114 Question Id : 103435116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following do not possess permanent dipole moment?
Options :

1. # Paramagnetic

2. % ferromagnetic

3. ¥ Diamagnetic

4. % Antiferromagnetic

Question Number : 114 Question Id : 103435116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofeied # @ fora o wirf fegydta ool 781 82
Options :

1. % DI

2. % AEgEDHY

3. ¥ UidgED

4. % gfa-dedadg

Question Number : 115 Question Id : 103435117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A coil is placed in magnetic field of 5T and magnetic field lines making an angle 60° with axis of the coil. The area of the cross section is 0.25
m? and number of turns is 50.The magnetic flux linked with the coil is

Options :

1. ¥ 31.25wb
2. % 62.50 wb
3. % 50.25 wb



4. % 45.50 wb

Question Number : 115 Question Id : 103435117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh Sl bl ST b I & H 3R I & W1, il b 3H&1  60° BT DIV S U IWN 7T § | SIIRI BIC BT &ABE 0.25 m? §
3R gHTdl B GWAT 50 B 1 el A FST Jreh 1 ifaTe @

Options :

1. ¥ 31.25 wb

2. % 62.50 wb

3. % 50.25 wb

4. % 45.50 wb

Question Number : 116 Question Id : 103435118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the equivalent resistance if two resistor R;= 8 ohm and R, = 8 ohm are in parallel?
Options :

1. ® 24 ohm

2. % 8 ohm

3. ¥ 4 ohm

4. % 16 ohm

Question Number : 116 Question Id : 103435118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &l IfeRIY® R = 8 371 3R R, = 8 3 THMIR H 81 o ged UfRIY (Ui aaire foRe o) F1 g2
Options :

1. % 24 30/

2. % g3

3.v 4.3



4. % 16 309

Question Number : 117 Question Id : 103435119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The oscillations will be large in the ballistic galvanometer if the moment of inertia in the coil is

Options :

1. # low

2. ¥ high

3. % intermediate
4. # Constant

Question Number : 117 Question Id : 103435119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfiee Teaidiex # gl g 811 afe Hsoit H Sreareul &l
Options :

1. % hH

2.% 3

3. ® HAIdR®

4. % fgdie

Question Number : 118 Question Id : 103435120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the time required for one complete revolution of the particle executing simple harmonic motion?

Options :

1. % T=2no

2. % T=w"n

3. % T=0"2n

4. ¥ T =21+ ®



Question Number : 118 Question Id : 103435120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 3Tad T R aTel BT & Ueh qul URepar H fohd =1 I9d & g2

Options :

. * T=2n0

2. % T=o+mn

3. %* T=0"2n
4. ¥ T=2n+o

Question Number : 119 Question Id : 103435121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The phase difference between the velocity and displacement of a particle executing SHM is
Options :

1. % =n

2.%0

3. % 2n

4. ¥ 12

Question Number : 119 Question Id : 103435121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHM ! fhaTi-ad X aTd BT b T 3R IR & & BT HeR §
Options :

1. % ¢

2.% 0

3. % 2n

4. ¢ =2

Question Number : 120 Question Id : 103435122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The amplitude of the wave at the antinode is

Options :

1. ¥ Maximum
2. % Minimum
3. * Infinite

4.%0

Question Number : 120 Question Id : 103435122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS IR T BT S gl
Options :
1. ¢ 3ffYhdn
2. % YqdH
3. % 3Fd
4. %0

Discipline2
Group Number : 7
Group Id : 1034357
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline2

Section Id : 1034357
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 1034359
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 103435123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not the type of wavefront?
Options :

1. #¥ spherical wavefront

2. % Cylindrical wavefront

3. % Plane wavefront

4. ¢ Elliptical wavefront

Question Number : 121 Question Id : 103435123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad # ¥ o9 I W &1 UHR 78l 82
Options :

1. % TMATHR dHM

2. % SAIDHR I

3. % W g

4. ¥ 3USTHR (3fafPebel) T




Question Number : 122 Question Id : 103435124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the path difference and phase differences for the constructive interference?
Options :

1. # Ax=(nt1)A, ¢ =2nn

2. % Ax=nk, ¢=(2n-1)xn

3. % Ax=n), ¢ =2nn

4, % Ax=(n-1)A, 0 =(2n+1)n

Question Number : 122 Question Id : 103435124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Fefacd) AfdamRor & forg Ty 3R 3R HariR &1 82
Options :

1. % Ax = (nt+1)A, ¢ =2nn

2. % Ax=n)\, ¢=(2n-1)xn

3. % Ax=n)\, ¢ =2nn

4. % Ax=(n-1A, ¢ =(2n+1)n

Question Number : 123 Question Id : 103435125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On what principle is the interferometer based?
Options :

1. ¥ Superposition of wave

2. # laws of reflection

3. * Fresnel principle

4. % Huygens's principle

Question Number : 123 Question Id : 103435125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HfHROTATH {5 Rigid TR et g2
Options :

1. ¢ T BT AR

2. % gidfdd & Fa|

3. % O Rgid

4. % g3 &1 RIgid

Question Number : 124 Question Id : 103435126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Fraunhofer diffraction, source is at

Options :

1. ®* Finite distance

2. ¥ Infinite distance
3. ® minimum distance

4. % in the middle of finite and infinite distance

Question Number : 124 Question Id : 103435126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS8R faad- &, Jid WREA B
Options :

1. * gRfard gl

2. ¢ 3 G

3. % Aaq

4. % ORMAT 3R 3Fd g & g |

Question Number : 125 Question Id : 103435127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following fringes are not sharp and well defined?
Options :

1. # Fraunhofer diffraction

2. # Interference

3. % Fresnel diffraction

4. % Newton' ring

Question Number : 125 Question Id : 103435127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 4 o9 3 fibe Toia iR Wy 8 82
Options :

1. % TBI3TeIHR faad

2. % Bl

3. ¢ Thad faadH

4, % Y49y

Question Number : 126 Question Id : 103435128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the value of the function repeats itself after equal interval of time, then function is

Options :

1. % Complex

2. # Constant

3. % Non-periodic
4. ¥ Periodic

Question Number : 126 Question Id : 103435128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e B BT A JHM SicRTd & §1¢ W P Gl dl 5, af B garsl




Options :

1. % SR
2. % fgdis

3. % TR 3fraaf
4. 3Maal

Question Number : 127 Question Id : 103435129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Fourier coefficient is zero for even function?
Options :

1. * a0

2. ¥ b,

3. % a,

4. % ajand b,

Question Number : 127 Question Id : 103435129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 B Jurie 99 Had & T 82
Options :

1. % a,

2.¥ b,

3. % a,

4. * ao 3’ﬁqbn

Question Number : 128 Question Id : 103435130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is not the Dirichlet's condition for the given function in the interval (a,b)?



Options :

1. # Single valued

2. # Bounded

3. % finite number of discontinuity

4. ¥ Non-periodic

Question Number : 128 Question Id : 103435130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITRTd (a, b) W AT T BeH & forg Fafafed & 9 o @ S &1 Rufd 81 82
Options :

1. % Tl A

2. % UREfd

3. % 3Id BI URMAT FB

4. ¢ IR-3MMaIH

Question Number : 129 Question Id : 103435131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the first order partial derivative of the function, F(x) = x> + y* + 4xy ?
Options :

1. % x +4y and y+4x

2. % 2xy +4y and 2y+4x?

3. % 2x +4x and 2y+4y

4. ¥ 2x +4y and 2y+4x

Question Number : 129 Question Id : 103435131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA F(x) = x2 + y2 + dxy BT UYH Pife iR aeherst o1 g2
Options :



1. % x +dy 3ﬁ?y+4x

2. % 2xy +4y 3R 2y+4x2
3. % 2x +4x 3R 2y+dy
4. ¥ 2x +4y 3R 2y+4x

Question Number : 130 Question Id : 103435132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The degree of the closeness in the measurement of a quantity to its true value is known as
Options :

1. ¥ Accuracy

2. # Precision

3. % Systematic error

4. % random error

Question Number : 130 Question Id : 103435132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & AU & A1 & IR 79 3 Adear &t fSilh & g su d SHr S g|
Options :

. ¢ gl

2. % URYFS

3. % HHdS IS

4. % grefwdd Ffc

Question Number : 131 Question Id : 103435133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On which conservation law, the first law of thermodynamics based?
Options :

1. ¥ Conservation of energy



2. * Conservation of momentum
3. # Conservation of mass

4. # Conservation of charge

Question Number : 131 Question Id : 103435133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR BT UyA faH, f6g TRemr fAge uR smuid g2
Options :

1. ¥ Sl BT TREUT

2. % ATl BT TRE&UT

3. % o i AR &1 FoH

4. % 3{TAR] DT TRETTT

Question Number : 132 Question Id : 103435134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which law of thermodynamics establishes the concept of entropy?
Options :

1. # First law

2. % Second law

3. % Third law

4. % Fourth law

Question Number : 132 Question Id : 103435134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BT I AT W Tl &1 SaeROT &1 RATT Hal 82
Options :

1. ® g g

2. ¢ G 4TH



3. % g |
4. % YT A

Question Number : 133 Question Id : 103435135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of an extensive variable?
Options :

1. # Temperature

2. ¥ Entropy

3. % density

4. % refractive index

Question Number : 133 Question Id : 103435135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & & S 91 ORI o $T IeR0T 82
Options :

1. # dIYHA

2. ¥ Tt

3. % Ydd

4. % Ui

Question Number : 134 Question Id : 103435136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not the thermodynamic potential?
Options :

1. % U

2.%F

3.% G



4. ¥ W

Question Number : 134 Question Id : 103435136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRed # ¥ D19 91 SHRTIS! &l T8l 72
Options :

1. % U

2. % F

3.% G

4. v W

Question Number : 135 Question Id : 103435137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The change in enthalpy is given by this relation:
Options :

1. ¥ dH=TdS + VdP

2. % dH=TdS - VdP

3. % dH=SdT + PdV

4. % dH=SdT - PdV

Question Number : 135 Question Id : 103435137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quf So & uRad 59 et gRT fear Srar @:
Options :

1. ¥ dH=TdS + VdP

2. % dH=TdS - VdP

3. % dH=SdT + PdV

4. % dH=SdT - PdV



Question Number : 136 Question Id : 103435138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the degrees of the freedom of the triatomic molecules due to translational motion?
Options :

1. % 6

2.%5

3.3

4. % 4

Question Number : 136 Question Id : 103435138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T o BRI FARANTGS 3 Bt Wc=ral o1 &3 & 82
Options :

1. % 6

2.% 5

3.3

4. % 4

Question Number : 137 Question Id : 103435139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average translational kinetic energy of the molecule is
Options :

1. # kT+3

2. % kT

3. # kT+2

4. % 3KT+2

Question Number : 137 Question Id : 103435139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3] T ST IR st Sl gl
Options :

1. # kT+3

2. % kT

3. % kT2

4, ¥ 3KkT=2

Question Number : 138 Question Id : 103435140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The collision between the molecules is
Options :

1. ¢ perfectly elastic

2. # Inelastic

3. % can be elastic and inelastic

4. % cannot be perfectly elastic and inelastic

Question Number : 138 Question Id : 103435140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Syl ¥ e frga 2

Options :

1. ¢ R TRE U UARY

2. % YA

3. % YR 3R YA B qhell 3

4. % T8 IRE T AT 3R YA g1 81 Tl

Question Number : 139 Question Id : 103435141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



At what temperature and pressure, real gas behaviour deviated as said by Ideal Gas Law?
Options :

1. # high temperature and low pressure

2. % high pressure and high temperature

3. ¢ High pressure and low temperature

4. ® low temperature and low pressure

Question Number : 139 Question Id : 103435141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3eef 719 o9 & SER {59 A 3R e W, IRdde 19 deR fa=frd g g2
Options :

1. % I 99 3R A9 g

2. % 3 g9 3R I drgHH

3. ¢ 3 T§ 3R HH dIAH

4. % HY T 3R EHH g9

Question Number : 140 Question Id : 103435142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of CRO?

Options :

1. # Copper ray oscilloscope

2. % Copper rod Oscillator

3. % Cathode ray oscilloscope

4. ® Cathode rod oscillator

Question Number : 140 Question Id : 103435142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CRO T JUf YU &1 52



Options :

1. % HIR T SHRYADIT
2. % PR AS RcIcR
3. ¥ HUS X RyaRDY
4. % PSS N
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Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks : 20
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Discipline3
Section Id : 1034358
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 10343510
Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 103435143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following DIP IC protects IC from high temperature and also high performance equipment?
Options :

1. # Plastic DIP

2. ¥ Ceramic DIP

3. # Plat pack

4. % CSP

Question Number : 141 Question Id : 103435143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & & &9 91 DIP IC I dT9HM 3R 3= UG IJUSHUN Y IC DT & BT 82
Options :

1. % WP DIP

2. ¢ Rf DIP

3. % W U

4. % CSP

Question Number : 142 Question Id : 103435144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The combination of OR and NOT gate is
Options :

1. ¥ NAND gate

2. % AND gate

3. % NOR gate

4. % XOR gate

Question Number : 142 Question Id : 103435144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
OR 3R NOT 7I¢ &1 e §

Options :

1. ¥ NAND7IC

2. % ANDTIC

3. ¥ NORTIC

4. % XORTIC

Question Number : 143 Question Id : 103435145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 2's compliment of 010011 is
Options :

1. % 110110

2. % 101100

3. % 100011

4.+ 101101

Question Number : 143 Question Id : 103435145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
010011 T 2's R &

Options :

1. % 110110

2. % 101100

3. % 100011

4.+ 101101

Question Number : 144 Question Id : 103435146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following combinational logic circuits is used as parallel to serial converter?



Options :

1. #* Demultiplexer
2. % Decoder

3. ¥ Multiplexer
4. % Encoder

Question Number : 144 Question Id : 103435146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & I o 1 JueH difoe Ifdhe TiRad o1 STaT uRdde & AR 3 U H a1 ST 82
Options :

1. % fqagdhdd

2. % fSHIsR

3. ¢ Sgdddd

4. % TAHIe

Question Number : 145 Question Id : 103435147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the binary addition of 1100 and 0101?
Options :

1. % 10001

2. % 1101

3. % 11001

4. % 10011

Question Number : 145 Question Id : 103435147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1100 3R 0101 &7 fg3nem Sie w1 82

Options :



1. ¥ 10001
2. % 1101
3. % 11001
4. % 10011

Question Number : 146 Question Id : 103435148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR sp fFau-gara & fuior & fore ford e &1 o1 swufeRT farar o Tedr 82
Options :

1. # AND 3fR NOR 7@

2. ¢ NOR T 3R NAND 7ie

3. % AND 3{ROR 7

4. % OR 3fR NAND e

Question Number : 146 Question Id : 103435148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cross coupling of which gates can be done to construct basic SP flip-flop?
Options :

1. # AND and NOR gate

2. % NOR gate and NAND gate

3. % AND and OR gate

4. % OR and NAND gate

Question Number : 147 Question Id : 103435149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the singular point of the function f(z) = 1 + (z-4)?
Options :

1.¥ 4



2. %0
3.% 4
4. % 2

Question Number : 147 Question Id : 103435149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT f(z) = 1 + (2-4) DT U fog T2
Options :

1.¥ 4

2.%0

3.% 4

4. % 2

Question Number : 148 Question Id : 103435150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the Fourier transform of f(x) i.e. F[f(x)] = {(s), then F[f(ax)] is equal to
Options :

1. # af(s)

2. % f(a+s)

3. % sf(a)

4. ¢ {f(s+a)}~a

Question Number : 148 Question Id : 103435150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f(x) BT A SUR, T F[f(x)] = f(s) AT F[f(ax)] 79 F SRR B
Options :

1. * af(s)

2. % f(a+s)

3. * sf(a)



4. ¢ {f(s+a)}~a

Question Number : 149 Question Id : 103435151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is the Laplace transform of 1?

Options :
. % 1+¢?
2. % s

3.9 1 +5
4. % 2+¢3

Question Number : 149 Question Id : 103435151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofefEad & T &9 I1 1 T I TR 82

Options :
1% 1+¢2
2. % s
3.9 1+5
4. % 2+

Question Number : 150 Question Id : 103435152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The energy of the quantum is the integral multiple of
Options :

1. ¥ hv

2. %3

3. % h

4. % K2y



Question Number : 150 Question Id : 103435152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HicH Bt SHoll (1Y BT JHGS 0TS ¢ |
Options :

1. ¥ hv

2. %3

3.% h

4, % h2y

Question Number : 151 Question Id : 103435153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the value of Planck's constant?
Options :

1. % 1.054x 1034 Js

2. % 6.63x 10732 Js

3.9 6.63x 10734 Js

4. % 1.054 x 1077 Js

Question Number : 151 Question Id : 103435153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed 7 3 o1 e Hadie w1 A 82
Options :

1. % 1.054x 1074 Js

2. % 6.63x 10732 Js

3.¢ 6.63x 1074 Js

4. % 1,054 x 1077 Js



Question Number : 152 Question Id : 103435154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The material object is said to be idealized blackbody when the object
Options :

1. ¥ absorbs all the radiation fall on it

2. % reflect all the radiation fall on it.

3. # reflect and absorb some radiation fall on it

4. % peither absorb nor reflect the radiation fall on it.

Question Number : 152 Question Id : 103435154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A g BT SR FHOIHT HET STl § o g |

Options :

1. ¢ I R US aret gt fafeson ot sranfyd sar g

2. % IR UYsH ara i fafeszor & wrrafda s a8

3. % YR USH a1d $S [AfohR01 1 R1afcld 3R ST Hd &

4. % IR TS It f3fHR01 1 7 @ a2t e g 3R 7 ) ufafdfed sar g

Question Number : 153 Question Id : 103435155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the experiment of photoelectric effect, the maximum kinetic energy of the ejected electrons depends on the
Options :

1. ¥ Number of electron

2. % Amplitude

3. # Intensity

4. ¥ Frequency

Question Number : 153 Question Id : 103435155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS TI-faggd UHTa & TRt H, Iafold Saagi-i &1 Sifidad Tfasl SHolf R R A g
Options :

1. % dacH DI B

2. % 3IAH

3. % g¢gel

4. 3MMqf

Question Number : 154 Question Id : 103435156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is the De-Broglie relation? Here k is wave number.

Options :

1. ¥ k=p/h
2. % k=h/p
3. % k=h/p
4. % k=2p/h

Question Number : 154 Question Id : 103435156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & @ o g-sis J9Y 82 T8T k T GBI |

Options :

1. ¥ k=ph
2. % k=h/p
3. % k=h/p
4. % k=2p/h

Question Number : 155 Question Id : 103435157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following crystal is used in Davission-Germer experiment to scatter the monoenergetic electron?



Options :
1. ¥ Nickel
2. % Copper
3. # Iron
4. % Zinc

Question Number : 155 Question Id : 103435157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafEd 7 3 fo frea &1 SuanT SfawH.-orR i & Te-3o1 faferur sadael & faa & forg fovar strar 82
Options :

1. ¢ Hod

2. % dH

3. % dIgl

4. % SRl

Question Number : 156 Question Id : 103435158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is known as the localized wave function?
Options :

1. % Eigen function

2. % phase velocity

3. % group velocity

4. ¥ Wave packet

Question Number : 156 Question Id : 103435158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & ¥ ot RIMHaed R Had & U & STHT Sl 62

Options :




1. % fHcTeffore Bead
2. % YIa=yT ai

3. % g a1
4.« 33 Ude

Question Number : 157 Question Id : 103435159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The result of the Double slit experiment with electrons tell us about?
Options :

1. # Particle nature only

2. % Charge of the particle

3. % Particle and wave nature

4. % Mass of the particle

Question Number : 157 Question Id : 103435159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaaeT1 & Iy & R vl 3 ufomd g e & aR § 9 8
Options :

1. % had DU Thid

2. % HU I AT

3. ¢ BT 3R O UPHid

4. % HUl H] gUHTH

Question Number : 158 Question Id : 103435160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When one takes a modulus square of the wavefunction of a quantum particle, the result is
Options :

1. ¥ Probability Density



2. % Amplitude
3. % Eigen function

4. # Eigen vector

Question Number : 158 Question Id : 103435160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId I3 HicH HUI & dThe &1 HIYid a1 adl §, df URUIMH gidT 8
Options :

1. ¢ GHIfdd 9T

2. % 3MH

3. % 3ffHeiefforeh e

4. % JaOS e

Question Number : 159 Question Id : 103435161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The wave function of a quantum system having a single particle can be written as the linear combination of its
Options :

1. # Operators

2. % Eigen values

3. ¥ Eigen functions

4. ® Vectors

Question Number : 159 Question Id : 103435161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul U dTc] BicH JUTTH! o ai 1 B DI D FH & IR GTor & U H o] o el 5|
Options :

1. % 3O

2. % 3O A




3. ¢ 3YATEfOs wa
4. % glew

Question Number : 160 Question Id : 103435162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following radioactive decay, atomic number reduced by two?
Options :

1. ¥ Alpha decay

2. # Beta decay

3. % Gamma decay

4. # Inverse decay

Question Number : 160 Question Id : 103435162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiaa o ¥ fora Yeatendf e o, oA HHi® <1 T HH &1 SIrdl 82

Options :
1. ¢ 3{cWhl &Y
2. % dicr &
3. % TMHI &
4. % gfady &g
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Group Maximum Duration : 0
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Edit Attended Group? : No



Break time : 0

Group Marks : 20
Is this Group for Examiner? : No
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Mandatory or Optional : Mandatory
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Number of Questions to be attempted : 20
Section Marks : 20
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Sub-Section Id : 10343511
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 103435163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which among the following reaction, nucleus of the atom splits into two or more smaller nuclei?
Options :

1. #* Fusion

2. % Beta decay

3. % Fission

4. * Half life

Question Number : 161 Question Id : 103435163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 A fbg siftforar &, wxamy &1 il < a1 3ifiie B1e Afhe! H fawiferd 81 S 82



Options :

1. ® Jagq
2. % dicr el
3. ¢ fa@ug
4. % I Hra

Question Number : 162 Question Id : 103435164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The region enclosed inside the optical cavity is known as
Options :

1. # Optical region

2. ¥ Optical resonator

3. % Optical cell

4. # Optical box

Question Number : 162 Question Id : 103435164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USRS $IY Y §& &3 P (79 o1 o1l &
Options :

1. % 3fifpdHa &

2. ¢ JHIPH [

3. % 3ffPehel Jal

4. % YD dlag

Question Number : 163 Question Id : 103435165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Crystal diode converts AC into DC, it can be used as
Options :



1. ¥ Rectifier
2. % Amplifier
3. % Transistor
4. # QOscillator

Question Number : 163 Question Id : 103435165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fped SIS AC &I DC H URafdd Hal 8, 95T ST 9 & U H fhar S1 aspar gl
Options :

1. ¢ fGFHRI

2. % yadad

3. % CifoReR

4. % Gl

Question Number : 164 Question Id : 103435166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following diode do not shows negative resistance?
Options :

1. # IMPATT diode

2. # Tunnel diode

3. # Gunn diode

4. ¥ Laser diode

Question Number : 164 Question Id : 103435166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeied & § &9 91 Sre Buras ufeRiy ueiRid =g #xdr g2
Options :

1. % IMPATT SIS




2. % TAA SIS
3. % TSNS
4. ¢ ToR SATS

Question Number : 165 Question Id : 103435167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the value of emitter current if the base current is 0.05 mA and = 100?
Options :

1. % 2.55mA

2. % 3mA

3. % 435mA

4.4 505 mA

Question Number : 165 Question Id : 103435167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie SMYR YR 0.05 mA 3R B = 100 B A Iegoich YIRT BT HH FT T2
Options :

1. # 2.55mA

2. % 3mA

3. % 435mA

4. % 5.05 mA

Question Number : 166 Question Id : 103435168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An electronic device which increase the power of the signal is called as.
Options :

1. ¥ Amplifier

2. # Rectifier

3. % Oscillator



4. % Diode

Question Number : 166 Question Id : 103435168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ZATI - SUDRUT ol R B! Afdd B IGId1 ¢ 39 Dl o g |
Options :

1. ¥ Yatid

2. % feFaRI

3. % QAP

4. % TS

Question Number : 167 Question Id : 103435169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the power gain (in decibel) of an amplifier which has the voltage gain 10 V/V and current gain 10 A/A?
Options :

1. * 50dB

2.¥20dB

3. % 45dB

4. % 10dB

Question Number : 167 Question Id : 103435169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yadfes ot T afs (SRaa &) Far gt fSred fayaiaR afr 10 v/v 8 IR B afl 10 A/A B 2
Options :

1. % 50dB

2.%20dB

3. % 45dB

4. % 10dB



Question Number : 168 Question Id : 103435170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At mid frequency, the voltage gain in the RC coupled amplifier is
Options :

1. % Zero

2. % Varies with frequency

3. % Constant

4. % 1

Question Number : 168 Question Id : 103435170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A&y Mgl W, RC AT yadfes & favaiaRk af@r g
Options :

1. %=

2. % 3R P Y g /AT §

3. ¢ fadie

4. % 1

Question Number : 169 Question Id : 103435171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is also known as harmonic oscillator?
Options :

1. # RL oscillator

2. ¥ Sinusoidal oscillator

3. #® C oscillator

4. % Non-sinusoidal oscillator

Question Number : 169 Question Id : 103435171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafead # 3 frd IRa snadf glas & =g § off ST Srar 82
Options :

1. ® RL GI®H

2. ¢ T I S

3. % CqId®

4. % IR T SIAD

Question Number : 170 Question Id : 103435172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a typical characteristic of an ideal OP-AMP?
Options :

1. # Zero output impedance

2. # infinite bandwidth

3. ® Zero noise

4. ¥ Zero open-loop gain

Question Number : 170 Question Id : 103435172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa & o9 91 sexf op-AMP @ dlefre fa=ear T8t 82
Options :

1. % T 33CYC Uldare

2. % 3Fd dsfagy

3. % g EH

4. ¥ T 3Ny offe

Question Number : 171 Question Id : 103435173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is shunted across the feedback capacitor to reduce the error voltage in practical integrator?
Options :

1. ¥ Resistor

2. % Capacitor

3. # Inductor

4. % Oscillator

Question Number : 171 Question Id : 103435173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dfdeard R # Ffe fAvaiar (TR Aees) & HH B & forg gk Juia (wisas Hufdiex) # a1 e fHar S g2
Options :

IR IGRED

2. % JUiA

3. % IR&

4. % QD

Question Number : 172 Question Id : 103435174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The conversion speed of the analog to digital converter lies between
Options :

1. % 10 ms - 100ms

2. % 1ms - 100ms

3.9 lus - 100us

4. % 0.1 pus-10us

Question Number : 172 Question Id : 103435174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I fEfSed pack ot =uiarur 1fd 9 & 9 gidt g




Options :

1. #* 10 ms - 100ms
2. % Ims - 100ms
3.9 1us - 100us

4, % 0.1 pus - 10us

Question Number : 173 Question Id : 103435175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An electron of mass m is moving freely inside an infinite potential well with the wall at x = 0 and x = 2a. What is the wave function of the first
excited state of the electron?

Options :

1. % y=Asin2nx+a
2. % y = Asinnx+a

3. % y = Asinnx+2a
4. % y= A sin 2nx+4a

Question Number : 173 Question Id : 103435175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m GOTHM BT SAGE, x = 0 3R x = 2a W AR & 1Y 3d U RO 9d H W7 U F gH 6T 8| AT P YT I a1 & forg
T e T g2
Options :

1. # y=Asin2nx+a
2. % y = Asin nx+a

3. % y = Asinnx+2a
4. % y = A sin 2nx+4a

Question Number : 174 Question Id : 103435176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ground state wave function of the particle of mass m confined in the region x = 0 and x = a of infinite square potential is given by



v = A sin(mx+a)

What is the value of normalization constant A?
Options :

1. % 2+va

2. % 4+

3. % a2

4. (\2 +a)

Question Number : 174 Question Id : 103435176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3d & faUd & &F x = 0 3R x = 2 T T GHHM m & HUN 6T Yo AT I Ha 9 gR1 fear mar g
v = A sin(mx+a)

FRIdic A BT HH |1 32

Options :

1. % 2+va
2. % 4+\a
3. % a2

4. ¥ (2 +a)

Question Number : 175 Question Id : 103435177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Time independent Schrodinger equation is used when the Hamiltonian is independent of
Options :

1. ¥ Time explicitly

2. % Time implicitly

3. % Wave function

4. #% Energy

Question Number : 175 Question Id : 103435177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

B W AR THIBUT BT IUTNT aF o1 STl € o d gffee! RS RG]
Options :

1. ¢ GHY WYAAT (C13H TRI@IRTea)

2. % JUY WYY (C13H FIRIca)

3. % R had

4. % Joll

Question Number : 176 Question Id : 103435178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The energy eigen values of the time-independent Schrodinger equation for the bound state of a system are
Options :

1. % Continuous or discrete

2. % not defined

3. # continuous

4. ¢ discrete

Question Number : 176 Question Id : 103435178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JUTTCH P a1 (AT & forT FTd Taaia ANfSTR THienRur &1 Solt sifianefores 71 8
Options :

1. % fRER a1 3/ gad (feopie) gl goar g

2. % gRYTNT T8l

3. % TR

4. ¢ 3dd (f&wpie)

Question Number : 177 Question Id : 103435179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is the Bohr quantization rule of angular momentum?

Options :

1. % L=nh
2.% L=nh
3. % L=hv
4. % L=hv

Question Number : 177 Question Id : 103435179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 By Gav o1 SgR yRuis w82

Options :

1. % L=nh
2.¥ L=nh
3. % L=hv
4. % L=hyv

Question Number : 178 Question Id : 103435180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The splitting of the spectral lines in the stark effect is due to
Options :

1. % weak Magnetic field

2. ¥ Electric field

3. # Strong magnetic field

4. % Both electric and magnetic field

Question Number : 178 Question Id : 103435180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th UHTT H gUishHyg @131 T faUTS 9 & SRUT BT B |

Options :



1. ® HUSR YabIT &

2. ¢ fagygad &=

3. % Tolgd 99d1g &7

4. % faggd SR Y1y &= gl

Question Number : 179 Question Id : 103435181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The splitting of the spectral lines in the presence of weak magnetic field is known as
Options :

1. ¥ Zeeman effect

2. # Paschen effect

3. % Seebeck effect

4, % Stark effect

Question Number : 179 Question Id : 103435181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHSR GH 19 & B IufUf H quichtia Y@rsf & fqUSH &1 &gl Il §
Options :

1. ¢ SHE gYTd

2. % ORI gYTd

3. % TP UHd

4. % TS JHE

Question Number : 180 Question Id : 103435182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In many-electron atoms, the energy of an orbital electron depends upon the
Options :

1. % nonly



2. % lonly
3.4 Bothnandl
4. % Neither n nor 1

Question Number : 180 Question Id : 103435182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Soac- WA 8, Hefid gaaeH &1 ol (1R FRal g
Options :

1. % ®Hddn |

2. % had | R

3.9 n 3R 1A IR

4. % @ n MNAFT IR
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Question Number : 181 Question Id : 103435183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the packing fraction of body centred cell (bcc) lattice?
Options :

1. ¥ 68%

2. % 52.40%

3. % 72%

4. % 58%

Question Number : 181 Question Id : 103435183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRR diod I ATcd BT T =1 T 52
Options :

1. ¥ 68%

2. % 52.40%

3. % 72%

4. % 58%

Question Number : 182 Question Id : 103435184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following have same atomic factor?
Options :

1. ¥ FCC and HCP

2. % BCC and SC

3. ¥ HCP and BCC

4. % SC and FCC

Question Number : 182 Question Id : 103435184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o 9 fargeT TRy Ui THH 82
Options :

1. ¢ FCC iR HCP

2. % BCC 3R SC

3. % HCP 3R BCC

4. % SC 3R FCC

Question Number : 183 Question Id : 103435185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The structure of the crystalline solid is
Options :

1. # irregular

2. % linear

3. ¥ regular

4. % circular

Question Number : 183 Question Id : 103435185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey 3 B A= 8

Options :



1. % fafia
2. % Qe
3. ¢ faafid
4. ® TADR

Question Number : 184 Question Id : 103435186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following can be magnetised permanently?
Options :

1. # Diamagnetic

2. ¥ ferromagnetic

3. # Antiferromagnetic

4. # Paramagnetic

Question Number : 184 Question Id : 103435186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford wrdt &9 ¥ graford farar o wedr g2
Options :

1. % Ylaradhiy

2. ¥ AEgEDHI

3. % yfd-dgda® ™

4. % 3YIDIT

Question Number : 185 Question Id : 103435187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following acts as an insulator?
Options :

1. ¥ Passive dielectric



2. # active dielectric
3. % superconductors

4. # polarised particle

Question Number : 185 Question Id : 103435187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead o @ o9 1 faggaRidh & wu & orf axar g2
Options :

1. ¢ TS5 tR1dgga

2. % Wfhd WRIdggd

3. % 3ffcrarcis

4. % gdidhd DUl

Question Number : 186 Question Id : 103435188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The temperature above which ferroelectric material changes into dielectrics is called as

Options :

1. % Neel temperature

2. % curie temperature

3. ® curie-Weiss temperature

4. % Non-critical temperature

Question Number : 186 Question Id : 103435188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 dIoHH o SR dgfdegd Il WRIdgdd § Sed Sl g, 39 CIERSIGIE
Options :

1. % = dgHEE

2. ¢ R AuHE




3. % RQRI-9 daHH
4. % TR.pifde arga=

Question Number : 187 Question Id : 103435189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The energy gap between the conduction band and valence band is very large in

Options :

1. # Semiconductors
2. # conductors

3. % insulators

4. # superconductors

Question Number : 187 Question Id : 103435189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 38 3R FUSTH T S8 P I ol T A Sga eIl
Options :

1. % eI

2. % dIcdd

3. ¢ fagga]ieh

4, % 3ffcrTeieh

Question Number : 188 Question Id : 103435190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not the property of the superconductor?
Options :

1. % Zero resistivity

2. % perfect diamagnetic

3. # crystal structure and thermal expansion remains constant



4. ¥ entropy and specific heat increases at transition temperature.

Question Number : 188 Question Id : 103435190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR R REIN A R B R

Options :

1. % g gfoRieehdl

2. % gl Ufdgadig

3. % foped WA R YHd fawdR Fadics 5dT &

4.« FHHUT ATUHM R Tt 3R fafRy w1 9 ot ]

Question Number : 189 Question Id : 103435191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gauss's law in magnetostatics is

Options :

1. ¥ div B =0
2. % divB=puJ
3. % divB=A

4. % Div B =o¢

Question Number : 189 Question Id : 103435191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R grafdhd! # 139 &1 Fod gl

Options :

1. ¥ divB =0
2. % divB=puJ
3. % divB=A

4. % Div B =o¢



Question Number : 190 Question Id : 103435192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The plane wave is the simple solution of the Maxwell's equation for the time varying field in
Options :

1. # bounded and homogenous medium

2. ¥ unbound and homogenous medium

3. # unbound and non-homogenous medium

4. ¥ bounded and heterogenous medium

Question Number : 190 Question Id : 103435192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THad a1 A A gag uRadaita & & fow Aegad Tt &1 IRedH I g |
Options :

1. % g Sk grey H1egd

2. ¢ IS 3R HRY HIEHH

3. % JFE 3R TR-HA=Y Ay

4. % giEfa 3R fawy Arey

Question Number : 191 Question Id : 103435193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of reflection coefficient in the Brewster angle?
Options :

1.¥0

2. %1

3. # infinity

4, % -]

Question Number : 191 Question Id : 103435193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R DI A TRIGH T[0T BT {1 o1 82
Options :

1.¥0

2. % |

3. % 3Fd

4. % |

Question Number : 192 Question Id : 103435194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the electric field components in x and y direction are same, then it is the form of
Options :

1. # elliptical polarisation

2. % linear polarisation

3. ¥ circular polarisation

4. % parallel polarisation

Question Number : 192 Question Id : 103435194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

od x 3R y fexneli  fiegd 89 & uc I B 8, A1 98 Fg dr = g g

Options :
1. % 3{USIPR (3 NIEEZS)) Ydur
2. % IRGep ¢aur

3. ¢ TUIPR Ydul
4, % FUMEIR Yaur

Question Number : 193 Question Id : 103435195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The most preferred TE mode in the rectangular wave guide is
Options :

1. ¥ TE

2. % TE,

3. # TE(4

4. % TE,,

Question Number : 193 Question Id : 103435195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP R dT MSe H oY UdIeI TE 7S §

Options :
1. ¥ TE,
2. % TEy,;
3. % TE;
4. % TE,

Question Number : 194 Question Id : 103435196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not the mode of the waveguide?
Options :

1. * ™™

2. % TE

3. * TEM

4. ¥ SEM

Question Number : 194 Question Id : 103435196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 auye o1 fadr 761 82
Options :

1. % ™™

2. % TE

3. ¥ TEM

4. ¥ SEM

Question Number : 195 Question Id : 103435197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In classical statistics, all the particles are

Options :

1. ¥ Distinguishable

2. % Indistinguishable

3. ® Both distinguishable and indistinguishable
4. % Neither distinguishable nor indistinguishable

Question Number : 195 Question Id : 103435197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR ARt 8, 91t Hor gid 3
Options :

1. ¢ fafry

2. % 3ffdd=g

3. % G IRy ofik sifda=g

4. % 1 faRiy ok 7§ sifad=

Question Number : 196 Question Id : 103435198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On increasing the temperature of an object, the peak wavelength of the black body spectrum



Options :

1. # Increases

2. ¥ Decreases

3. ¥ becomes Zero

4. % becomes constant

Question Number : 196 Question Id : 103435198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forf} g &1 AT TG WR, BT WaeH B I aei o BRI
Options :

1. % §gdl g

2. ¢ gedl |

3. % YRS g

4. % Fgdie g oA g

Question Number : 197 Question Id : 103435199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the property does not possess by Photon?
Options :

1. ¥ Rest mass

2. % Momentum

3. # Energy

4. ¥ Frequency

Question Number : 197 Question Id : 103435199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B G101 BT | T el 22

Options :



1. ¢ faH (%) TH ™
2. % FaT

3. % ol

4. % 3

Question Number : 198 Question Id : 103435200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following principle is not followed by Bose-Einstein Statistics?
Options :

1. * Aufbau principle

2. % Pauli's exclusion principle

3. # Hund's rule

4. % Heisenberg's Uncertainty Principle

Question Number : 198 Question Id : 103435200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed # 3 forg Rigia o1 a19-sme=ers Fifge! gRT ured e far Sirar 82
Options :

1. % 3MHarS, g

2.« TI3S 3Uasi ad

3. % gUg &I g\

4. % gISoHe o1 AT Rgra

Question Number : 199 Question Id : 103435201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The spin of the bosonic particles is
Options :

1. ¥ Integral



2. # Half integral
3. % both integral and half integral
4. % -]

Question Number : 199 Question Id : 103435201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST BN T T gIaTg|
Options :

1. ¢ HH[h

2. % YT YHID I

3. % QIFl GHIGE 3R T FHIHA

4. % -1

Question Number : 200 Question Id : 103435202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not example of Fermion.

Options :

1. ¥ Photon

2. % Electron

3. % Neutron

4. % Proton

Question Number : 200 Question Id : 103435202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B iHei T IaTev Tl &

Options :

1. ¥ BIcH

2. % AR



3. %
4, %

g
TeH



